
Sample Questions

Intro To Business Management

	1.
	Control is the regulation of one or more organizational activities to facilitate goal attainment. 

	A)
	True

	B)
	False


	2.
	Substantive modification of any part of an organization is known as

	A)
	organization development.

	B)
	organizing.

	C)
	organization implementation.

	D)
	organization change.

	E)
	organizational structure. 


	3.
	Forces for change for an organization can be derived from which of the following?

	A)
	Forces internal to the organization

	B)
	The general environment

	C)
	Forces external to the organization

	D)
	The task environment

	E)
	All of these. 


	4.
	The idea that organization change may have substantial effects extending far beyond the area in which the change actually takes place relates to one of the integrative management theories presented earlier in the text.  What is that theory?

	A)
	Systems theory

	B)
	Contingency theory

	C)
	Scientific management theory

	D)
	Theory X

	E)
	Theory Y 


	5.
	Microsoft announced it would start giving employees stock shares instead of stock options and that it would record the stocks as expenses on its books.  It was undergoing organization

	A)
	development.

	B)
	evolution.

	C)
	change.

	D)
	implementation.

	E)
	structure. 


	6.
	McDonald's announced it would offer high-speed Internet connections in selected San Francisco Bay area restaurants.  Within a month it expanded the program to the NYC area.  This is an example of organization

	A)
	development.

	B)
	evolution.

	C)
	change.

	D)
	implementation.

	E)
	structure. 


	7.
	Since 1998

the United Food and Commercial Workers Union has been trying to organize labor at Wal-Mart stores.  The union is an example of

	A)
	an external force for change.

	B)
	a change in the general environment.

	C)
	a change agent.

	D)
	an internal force for change.

	E)
	none of these. 


	8.
	Which of the following is a true statement?

	A)
	Organization change can involve virtually anything about an organization.

	B)
	Failure to respond to the need for change is a primary reason for organizational failure.

	C)
	Planned change is the preferred method of change.

	D)
	All of these.

	E)
	Only “organization change can involve virtually anything about an organization” and “failure to respond to the need for change is a primary reason for organizational failure.” 


	9.
	What stage of the Lewin model of organization change is exemplified by managers letting people who will be affected by an impending change know the reasons for the change?

	A)
	Implementing

	B)
	Recognizing

	C)
	Refreezing

	D)
	Transforming

	E)
	Unfreezing 


	10.
	Which of the following statements describes a problem associated with the Lewin model of organization change?

	A)
	It is too complicated for many people to comprehend.

	B)
	It fails to highlight the importance of planning change.

	C)
	It fails to communicate the value of change.

	D)
	It does not deal with reinforcing change after it has been made.

	E)
	It lacks operational specificity. 


	11.
	In the Lewin model

Caterpillar working to improve damaged relationships with the United Auto Workers after implementing layoffs is an example of

	A)
	refreezing.

	B)
	implementing the change.

	C)
	process change.

	D)
	reengineering.

	E)
	unfreezing. 


	12.
	In the Lewin model

reducing the size of the workforce by 5

000 workers is an example of which step in the change process?

	A)
	Unfreezing

	B)
	Process change

	C)
	Reengineering

	D)
	Implementing the change

	E)
	Refreezing 


	13.
	An organization's workforce has been reduced and top management then promises the union that there will be no more layoffs in the next year. In the Lewin model

this is an example of which step in the change process?

	A)
	Refreezing

	B)
	Process change

	C)
	Unfreezing

	D)
	Implementing the change

	E)
	Reengineering 


	14.
	Which of the following correctly represents the time order of the steps in the comprehensive model to change that is presented in your text?

	A)
	Recognizing the need

setting goals

diagnosing causes

selecting a change technique

implementing the change

and evaluating the results

	B)
	Setting goals

meeting with employees

evaluating the environment

monitoring competitors' response and implementing the change

	C)
	Diagnosing causes

setting goals

selecting a change technique

overcoming resistance to change

finding compromise solutions

and evaluating the results

	D)
	Recognizing the need

selecting a change technique

choosing a change leader

 implementing the change

and publishing the results

	E)
	None of these. 


	15.
	The manager's role as monitor is essential to which step in the comprehensive approach to change?

	A)
	Recognizing the need for change

	B)
	Understanding how to implement change

	C)
	Setting goals for change

	D)
	Selecting a change technique

	E)
	Planning change implementation 


	16.
	Which of the following might be a goal for change for an organization?

	A)
	To increase market share by two points

	B)
	To settle a strike

	C)
	To identify a merger opportunity

	D)
	To expand the market internationally

	E)
	All of these. 


	17.
	Which of the following exemplifies the first step in the comprehensive organization change model described in the text?

	A)
	Setting standards for a new absenteeism control procedure

	B)
	Noticing that the pension fund has less cash in it than needed to provide the guaranteed employee benefits

	C)
	Determining the probable causes of a recently detected drop in the level of employee job satisfaction

	D)
	Investigating different techniques for enhancing employee job satisfaction

	E)
	Planning a set of meetings to help employees understand the procedures in the company's new quality program 


	18.
	In general

the most common cause of worker resistance to change is

	A)
	threatened self-interests.

	B)
	uncertainty.

	C)
	different perceptions.

	D)
	feelings of loss.

	E)
	participation. 


	19.
	Desiree is reluctant to take a promotion because it involves moving.  She knows little about the area where she would live.  According to the text

the most likely reason for such employee resistance to change is

	A)
	threatened self-interests.

	B)
	different perceptions.

	C)
	uncertainty.

	D)
	participation.

	E)
	feelings of loss. 


	20.
	Which of the following is NOT a reason why employees are resistant to change?

	A)
	Threatened self-interests

	B)
	Different perceptions

	C)
	Risk propensity

	D)
	Participation

	E)
	Feelings of loss 


	21.
	Which of the following is an explanation of the resistance to change that a worker might feel because the worker disagrees with management that the type of change selected will be best for the organization in the long-run?

	A)
	Threatened self-interests

	B)
	Uncertainty

	C)
	Participation

	D)
	Different perceptions

	E)
	Feelings of loss 


	22.
	Andrea has worked in the marketing department for 27 years.  She knows the history and successes of the office better than any other employee.  When change is suggested

she is reluctant because she remembers accomplishments related to the current way of doing things.  As a result of ________

she is resistant to change.

	A)
	feelings of loss

	B)
	different perceptions

	C)
	participation

	D)
	facilitation

	E)
	uncertainty 


	23.
	When the public relations department wanted to move the newsletter staff to a more remote office

the manager perceived she would get less face time with her boss.  As a result of ________

the manager was resistant to the change.

	A)
	feelings of loss

	B)
	different perceptions

	C)
	participation

	D)
	threatened self-interest

	E)
	uncertainty 


	24.
	When the Army top General decided to change Army hats from a camouflage cap to a black beret there was great resistance.  Veterans groups protested because the black beret traditionally had been earned by rangers after significant hardship.  The beret was also less practical

providing no sun protection.  The decision came as a surprise to most of the Army.  The general and his staff failed to use ________ to reduce resistance to change.

	A)
	participation

	B)
	force-field analysis

	C)
	education and communication

	D)
	facilitation

	E)
	all of these 


	25.
	Rajan is trying to adopt more automated equipment in his soda bottling facility

and workers are resisting the change. When Rajan decides to hold a meeting to explain to workers how the change will be beneficial to them

he is using __________ as a means of overcoming resistance to change.

	A)
	participation

	B)
	force-field analysis

	C)
	division of labor

	D)
	education

	E)
	feelings of loss 


	26.
	Studies of the organization change process found that participation

	A)
	reduces the need for communication.

	B)
	encourages employees to adopt differing perceptions.

	C)
	increases productivity and cooperation.

	D)
	increases productivity but has no effect on cooperation.

	E)
	leads to higher training costs. 


	27.
	In most change situations

there are factors that will make the job of change more difficult and others that seem to ease the change process. The process by which the manager identifies and then eliminates as many of the forces against change as possible is called

	A)
	facilitation.

	B)
	implementation.

	C)
	force-field analysis.

	D)
	participative development.

	E)
	communication and education. 


	28.
	A force-field analysis identifies

	A)
	management potential in existing employees.

	B)
	differing perceptions among future employees.

	C)
	differing perceptions among managers regarding structural change.

	D)
	factors that facilitate and hinder organization change.

	E)
	the appropriate span of management for an organization. 


	29.
	When Jerre Stead took over as the CEO of Ingram Micro

a wholesale business that distributes computer parts to manufacturers and computers to retailers

he was following a CEO who was strongly authoritarian.  Stead immediately removed all office doors

renamed managers as coaches

and began describing himself as “Head Coach.”  This organization change was an example of change in

	A)
	people.

	B)
	technology and operations.

	C)
	structure and design.

	D)
	social responsibility.

	E)
	organization mission. 


	30.
	Adopting computers in offices is the technology and operations area of organizational change. However

creating a new computing department to support use of the new computer system is part of the __________ area of change.

	A)
	people

	B)
	technology and operations

	C)
	structure and design

	D)
	facilitation

	E)
	None of these. 


	31.
	Which of the following is an example of an organization's change in technology and operations?

	A)
	Enhanced job design

	B)
	Additional training for workers

	C)
	Adoption of automated information systems

	D)
	New compensation program

	E)
	All of these. 


	32.
	When organizational change involves planned alteration of the work processes or work activities

the change primarily involves the area of

	A)
	people.

	B)
	technology and operations.

	C)
	social responsibility.

	D)
	strategy.

	E)
	structure and design. 


	33.
	Which of the following represents organization change by means of change in technology/operations?

	A)
	Changing line and staff relationships

	B)
	Upgrading the management information system

	C)
	Training people to give them new skills and abilities

	D)
	Redesigning jobs

	E)
	Having some components of your product made overseas 


	34.
	The process used by an organization to transform inputs into outputs is known as

	A)
	reengineering.

	B)
	innovation.

	C)
	technology.

	D)
	radical innovation.

	E)
	incremental innovation. 


	35.
	Reengineering involves

	A)
	radical redesign.

	B)
	cost.

	C)
	all aspects of a business.

	D)
	time.

	E)
	All of these. 


	36.
	Reengineering is needed when an organization

	A)
	experiences entropy.

	B)
	is dominant in its market.

	C)
	changes its technology rapidly.

	D)
	wants to improve employee morale.

	E)
	wants to gradually change aspects of its structure. 


	37.
	The radical redesign of all aspects of an organization in order to achieve major gains in cost reduction

service delivery

or reduction in order-processing time is known as

	A)
	entropy.

	B)
	process change.

	C)
	innovation.

	D)
	reengineering.

	E)
	system change. 


	38.
	The normal process within an organization that leads to a system decline is known as

	A)
	reengineering.

	B)
	synergy.

	C)
	process change.

	D)
	innovation.

	E)
	entropy. 


	39.
	In the reengineering process

the first step is setting goals and developing a strategy. The second step is

	A)
	starting with a clean slate to re-create the organization.

	B)
	emphasizing top management's commitment to reengineering.

	C)
	implementing the chosen strategy across the organization.

	D)
	optimizing top-down and bottom-up perspectives.

	E)
	creating a sense of urgency among managers. 


	40.
	GE determined it could better service its customers by implementing a quality initiative called six-sigma.  Its first step is this process would be to

	A)
	get top management support for the plan.

	B)
	develop goals and a strategy for this reengineering.

	C)
	create a sense of urgency among its employees.

	D)
	optimize the availability of potentially necessary reengineering resources.

	E)
	hire a change agent. 


	41.
	The steps in the reengineering process do NOT involve

	A)
	developing goals and a strategy for reengineering.

	B)
	creating a sense of urgency.

	C)
	changing the firm's competitors.

	D)
	recreating the organization.

	E)
	using top management to play a major role in the effort. 


	42.
	The steps in the reengineering process involve

	A)
	developing goals and a strategy for reengineering.

	B)
	creating a sense of urgency.

	C)
	recreating the organization.

	D)
	using top management to play a major role in the effort.

	E)
	All of these. 


	43.
	When Rose's claims processing department was experiencing a severe conflict with the claims sales office

Rose asked her superiors to hire an organization development (OD) consultant to serve as a mediator. Which OD technique was Rose using?

	A)
	Third-party peacemaking

	B)
	Survey feedback

	C)
	Planning and goal setting

	D)
	Technostructural activities

	E)
	Force-field analysis 


	44.
	The members of the various boards of a church gathered information about the church in several ways: conducting surveys

holding meetings

interviewing church staff

and examining minutes of past church meetings. This is an example of the OD intervention technique known as

	A)
	intergroup activities.

	B)
	technostructural activities.

	C)
	third-party peacemaking.

	D)
	team building.

	E)
	process consultation. 


	45.
	Which of the following is a possible diagnostic activity within organization development?

	A)
	Questionnaires

	B)
	Attitude surveys

	C)
	Archival data

	D)
	Conversations with managers

	E)
	All of these. 


	46.
	When organization development consultants observe the communication patterns and methods of cooperation and conflict resolution in an organization

they are using the intervention technique called

	A)
	technostructural activities.

	B)
	process consultation.

	C)
	team building.

	D)
	coaching and counseling.

	E)
	third-party peacemaking. 


	47.
	Which of the following is a true reflection of the results of organization development (OD) efforts in this country?

	A)
	The results have been uniformly poor in virtually every organization that has tried OD.

	B)
	Nearly all organization development programs have been quite successful

and the firms have continued to expand them.

	C)
	Results are hard to attribute to organization development interventions because organizations are complex

open systems.

	D)
	Use of OD techniques makes it easy for organizations to handle problems with worker attitudes or perceptions.

	E)
	None of these. 


	48.
	The first stage of the organizational innovation process is

	A)
	growing.

	B)
	applying.

	C)
	launching.

	D)
	developing.

	E)
	managing. 


	49.
	The Microsoft operating system Windows XP offers a significant improvement in performance over Windows 2000. However

to date

customers have not shown by their purchases that they are willing to pay the price to gain the improved performance. Windows XP is in which step of the innovation process?

	A)
	Development

	B)
	Launch

	C)
	Growth

	D)
	Maturity

	E)
	Decline 


	50.
	During which phase of the organizational innovation process do most organizations have access to an innovation and apply it in the same way?

	A)
	Development

	B)
	Maturity

	C)
	Launch

	D)
	Growth

	E)
	Application 


	51.
	Microsoft Corporation's first commercially successful product was an operating system called DOS. DOS has been used as the basis of every new operating system developed by Microsoft

including its Windows software. With the development of Windows XP in 2001

for the first time Microsoft completely abandoned DOS. Today

DOS is in which stage of the innovation process?

	A)
	Decline

	B)
	Launch

	C)
	Growth

	D)
	Maturity

	E)
	Development 


	52.
	Some foods are now packaged for one-handed consumption—for example pudding

yogurt

and peanut butter in a tube.  This is an example of a ________ innovation.

	A)
	process

	B)
	technical

	C)
	radical

	D)
	mechanical

	E)
	managerial 


	53.
	Which of the following is a reason why organizations fail to innovate?

	A)
	They lack the money

time

or other resources.

	B)
	They fail to recognize opportunities for change.

	C)
	They fail to correctly evaluate opportunities for change.

	D)
	Organizations and people in organizations tend to resist change.

	E)
	All of these. 


	54.
	A firm's reward system

	A)
	is a means by which it tries to change employee behaviors.

	B)
	can be used to reward innovation.

	C)
	can be used to punish innovation.

	D)
	is made up of monetary and non-monetary rewards.

	E)
	All of these. 


	55.
	When a large business attempts to revitalize its entrepreneurial spirit through the employment of creative individuals

this is called

	A)
	intrapreneurship.

	B)
	new venture formation.

	C)
	creativity.

	D)
	entrepreneurship.

	E)
	None of these. 


	56.
	A(n) ________ is usually a middle manager who learns about a new product or service idea and becomes committed to it.  This manager helps the inventor overcome resistance to change and convinces others to take the innovation seriously.

	A)
	product champion

	B)
	inventor

	C)
	sponsor

	D)
	venture capitalist

	E)
	transformational leader 


	57.
	Those activities directed at attracting

developing

and maintaining an effective workforce are called

	A)
	recruiting.

	B)
	selection.

	C)
	employee relations.

	D)
	labor relations.

	E)
	human resource management. 


	58.
	Given the environment in which organizations must function today

which of the following statements about human resource management (HRM) is FALSE?

	A)
	HRM should have an important place because of the complex legal environment.

	B)
	HRM should be a part of the strategic planning process.

	C)
	HRM should be left to line managers

because they know their people best.

	D)
	HRM should be viewed as a means of significantly increasing productivity.

	E)
	Human capital reflects the organization's investment in attracting

retaining

and motivating an effective workforce. 


	59.
	If an organization refuses to hire women as welders

this is an example of

	A)
	an indirect form of discrimination.

	B)
	affirmative action.

	C)
	a direct form of discrimination.

	D)
	equal employment opportunity.

	E)
	employment at will. 


	60.
	If an organization uses an employment test that whites pass at a higher rate than African Americans

this is an example of

	A)
	a direct form of discrimination.

	B)
	employment at will.

	C)
	affirmative action.

	D)
	an indirect form of discrimination.

	E)
	equal employment opportunity. 


	61.
	The Age Discrimination in Employment Act forbids discrimination against workers above which of the following ages?

	A)
	40

	B)
	45

	C)
	50

	D)
	55

	E)
	None of these. 


	62.
	Brad's financial advising firm uses an intelligence test to screen prospective employees. The test has an adverse impact on minority applicants because the pass rate for the minority group is less than about

	A)
	80 percent.

	B)
	80 percent of the pass rate for all other employees in the firm.

	C)
	80 percent of the pass rate for the rest of the bargaining unit.

	D)
	80 percent of the pass rate for the majority group members.

	E)
	80 percent of the national pass rate. 


	63.
	Which of the following federal laws does NOT have a direct impact on human resource management?

	A)
	Equal Pay Act of 1963

	B)
	Workmen's Compensation Act

	C)
	Trademark Law Revision Act of 1988

	D)
	National Labor Relations Act (Wagner)

	E)
	Labor-Management Relations Act (Taft-Hartley) 


	64.
	Which of the following requires that women and men be paid the same amount for doing the same jobs

assuming their qualifications and experience are equal?

	A)
	Equal Pay Act of 1963

	B)
	Title VII of the Civil Rights Act of 1964

	C)
	Age Discrimination in Employment Act

	D)
	Fair Labor Standards Act

	E)
	National Labor Relations Act 


	65.
	All of the following are exempt from the overtime provisions of the Fair Labor Standards Act except

	A)
	salaried professional employees.

	B)
	executives.

	C)
	administrative employees.

	D)
	union workers on an automobile assembly line.

	E)
	All of these. 


	66.
	Irene uses a cane to walk and has difficulty getting to work assignments.  The ________ requires her employer to assist her mobility needs.

	A)
	National Labor Relations Act (Wagner Act)

	B)
	Labor Management Relations Act (Taft-Hartley Act)

	C)
	Americans with Disabilities Act

	D)
	Occupational Safety and Health Agency (OSHA)

	E)
	Fair Labor Standards Act 


	67.
	Mason works at a textile mill.  Last week he worked 45 hours.  According to the ________

he should receive overtime for the time he worked in addition to his regular 40-hour shift.

	A)
	National Labor Relations Act (Wagner Act)

	B)
	Labor Management Relations Act (Taft-Hartley Act)

	C)
	National Labor Relations Board

	D)
	Occupational Safety and Health Agency (OSHA)

	E)
	Fair Labor Standards Act 


	68.
	Which of the following is the first step in human resource planning?

	A)
	Assessing external and internal trends

	B)
	Predicting demand

	C)
	Forecasting supply

	D)
	Comparing future demand and internal supply

	E)
	Planning a response to predicted shortfalls or overstaffing 


	69.
	All of the following are steps in human resource planning EXCEPT

	A)
	job analysis.

	B)
	job evaluation.

	C)
	forecasting human resource supply.

	D)
	forecasting human resource demand.

	E)
	replacement chart. 


	70.
	The systematic collection and recording of information about jobs in the organization is known as

	A)
	job evaluation.

	B)
	job analysis.

	C)
	job specification.

	D)
	staffing.

	E)
	the selection process. 


	71.
	Forecasting personnel needs and availability

and setting up programs to match the two

are the specific parts of human resource

	A)
	supervision.

	B)
	development.

	C)
	planning.

	D)
	programming.

	E)
	control and integration. 


	72.
	Job descriptions include all the following information EXCEPT the

	A)
	qualifications required of the job incumbent.

	B)
	conditions under which the work is done.

	C)
	content of the job.

	D)
	tools and special equipment required.

	E)
	duties of the job. 


	73.
	You are reading a document that says that job incumbents must be at least twenty-one years of age

a citizen of the United States

and have at least two years of college training. What are you reading?

	A)
	Discriminatory and probably illegal job requirement

	B)
	Job analysis

	C)
	Job description

	D)
	Realistic job preview

	E)
	Job specification 


	74.
	Zenith Data Systems maintains a computerized skills inventory of its current employees.  This is one technique used for

	A)
	forecasting demand.

	B)
	job analysis.

	C)
	forecasting supply.

	D)
	job evaluation.

	E)
	external recruiting. 


	75.
	Joel Hansen was promoted from Principal to Superintendent.  A new principal was transferred from another school within the district.  This promotion and transfer resulted in

	A)
	a drop in morale.

	B)
	an increases in turnover.

	C)
	the ripple effect.

	D)
	a basis for a complaint from the union.

	E)
	losing highly qualified employees. 


	76.
	A job application blank should not contain questions about

	A)
	gender.

	B)
	religion.

	C)
	national origin.

	D)
	ethnicity.

	E)
	The application should not contain questions about any of these. 


	77.
	Which of the following would probably have the highest content validity?

	A)
	Personality test

	B)
	An assessment center

	C)
	An aptitude test

	D)
	Job posting

	E)
	IQ test 


	78.
	The Ann Arbor Police Department has all its candidates for promotion attend a multiple-day evaluation session during which they undergo a battery of tests

interviews

and simulated work experiences. This is an example of

	A)
	an assessment center.

	B)
	a structured orientation process.

	C)
	job analysis.

	D)
	external recruiting.

	E)
	attrition. 


	79.
	Sara is an assistant manager at a restaurant

which is part of a large

national chain. She was recently sent to a one-month educational course to help her get the skills she needs for promotion to Manager. Sara's employer was providing her with

	A)
	feedback.

	B)
	evaluation.

	C)
	development.

	D)
	training.

	E)
	recruiting. 


	80.
	Leslie's team of hotel housekeepers needs to learn the physical skill of correctly putting sheets on beds. Leslie should use which of the following training methods?

	A)
	Internet-based training

	B)
	Role-playing exercises

	C)
	Training manuals

	D)
	On-the-job training

	E)
	Discussion groups 


	81.
	The most appropriate training technique for Pepsi Cola to teach its employees to make ethical decisions would be

	A)
	web-based training.

	B)
	case discussion groups.

	C)
	on-the-job training.

	D)
	assigned readings.

	E)
	programmed instruction. 


	82.
	Scrap rate

dollar volume of sales

and number of claims processed are all examples of

	A)
	training methods.

	B)
	predictive validation methods.

	C)
	content validation methods.

	D)
	judgmental performance appraisal criteria.

	E)
	objective performance appraisal criteria. 


	83.
	When you call an organization and the message says “your phone call may be recorded for training purposes” that organization is using

	A)
	a judgmental method of performance appraisal.

	B)
	an objective measure of performance appraisal.

	C)
	a ranking system of performance appraisal.

	D)
	management by objectives.

	E)
	None of these. 


	84.
	An engineering consulting firm evaluates its employees using an efficiency rating calculated by dividing total billable hours worked by total possible billable hours. This is an example of

	A)
	a judgmental method of performance appraisal.

	B)
	an objective measure of performance appraisal.

	C)
	a ranking system of performance appraisal.

	D)
	management by objectives.

	E)
	None of these. 


	85.
	Which of the following is a good reason to evaluate the performance of employees on a regular basis?

	A)
	To validate selection instruments

	B)
	To assess the impact of training programs

	C)
	To assist decisions about pay raises

	D)
	To provide feedback to employees to help them to plan their careers

	E)
	All of these. 


	86.
	George is an average performer in a high profile job.  Since he appears to come through at critical times his performance is usually rated above less critical jobs performed by exceptional people.  George benefits from a(n)

	A)
	recency error.

	B)
	halo error.

	C)
	employment at will.

	D)
	360-degree feedback.

	E)
	All of these. 


	87.
	When a manager is evaluated by his or her superiors

peers

and  subordinates this is known as

	A)
	employment at will.

	B)
	360-degree feedback.

	C)
	recency error.

	D)
	halo error.

	E)
	All of these. 


	88.
	In human resource management terminology

the incentive pay an employee receives is referred to as

	A)
	benefits.

	B)
	compensation.

	C)
	the wage-benefit package.

	D)
	perquisites.

	E)
	remuneration. 


	89.
	The major difference between wages and salary is

	A)
	salaries are higher than wages.

	B)
	salaries include benefits while wages do not.

	C)
	low-level employees earn salaries while managers receive wages.

	D)
	wages are based on hours worked while salary is based on contribution to the firm.

	E)
	None of these. 


	90.
	The term that refers to a company's wages in comparison with those of other companies is

	A)
	wage-structure.

	B)
	salary.

	C)
	compensation.

	D)
	wage-level.

	E)
	None of these. 


	91.
	Costco has a reputation for paying higher than the prevailing wages in its industry.  This is an example of a(n) ________ decision by its management.

	A)
	wage-level

	B)
	wage-structure

	C)
	individual wage

	D)
	wage-benefit package

	E)
	benefit-level 


	92.
	The process of determining the relative value of jobs within the organization is known as

	A)
	job analysis.

	B)
	job evaluation.

	C)
	the wage-level decision.

	D)
	the individual wage decision.

	E)
	performance evaluation. 


	93.
	When human resource managers determine how much each worker in a particular wage grade will be paid

they are making a(n) __________ decision.

	A)
	wage-level

	B)
	wage-structure

	C)
	individual wage

	D)
	benefit-level

	E)
	individual-benefit 


	94.
	Parking lot attendants for a major corporation earn less than executive vice presidents at the same corporation. This is an example of

	A)
	an individual wage decision.

	B)
	a wage-structure decision.

	C)
	wage discrimination.

	D)
	wage-level decision.

	E)
	an incentive wage. 


	95.
	As Nilu listens

the interviewer talks about the company's on-site childcare

health insurance

dental plan

and vacation time.  The interviewer is discussing

	A)
	the wage-benefit package.

	B)
	compensation.

	C)
	perquisites.

	D)
	benefits.

	E)
	wages. 


	96.
	A cafeteria benefits plan consists of

	A)
	allowing employees to choose among a set of optional benefits.

	B)
	providing on-site lunches to employees during the work week.

	C)
	reimbursing employees for meals they buy for clients.

	D)
	paying employees' wages for work they do during their lunch hour.

	E)
	None of these. 


	97.
	An organization is considered diverse when

	A)
	managers have been given diversity training.

	B)
	it allows all new applicants to join the organization.

	C)
	its members differ from each other.

	D)
	its makeup matches the makeup of the general population.

	E)
	All of these. 


	98.
	Which of the following is an important dimension for assessing diversity?

	A)
	Age

	B)
	Gender

	C)
	Religion

	D)
	Ethnicity

	E)
	All of these. 


	99.
	Which of the following is NOT a strategy for managing diversity?

	A)
	Organizational policies

	B)
	Diversity training

	C)
	Selective recruitment

	D)
	Supportive organization culture

	E)
	Organizational practices 


	100.
	Robbie's work group consists of seven male employees and five females. Along the dimension of gender

is Robbie's group diverse?

	A)
	Yes.

	B)
	No—would need to have more females than males.

	C)
	Can't tell from the information given—would need to know the employees' ages and ethnicities.

	D)
	Can't tell from the information given—would need to know the gender makeup of the entire corporation.

	E)
	Can't tell from the information given—would need to know which of the employees are managers and which are line workers. 


	101.
	Which of the following practices indicates an organization that does NOT value diversity?

	A)
	The benefits packages are tailored to individual needs.

	B)
	Work hours are flexible.

	C)
	Committee assignments are diverse.

	D)
	Diversity training is provided.

	E)
	Policies and procedures follow the letter of the EEO law. 


	102.
	In a meeting with her managers

Mariah says

“I really believe this is a bad decision

but I have been asked by my boss to increase the diversity of this division.” Which of the following is Mariah apparently failing to consider?

	A)
	That diversity can provide competitive advantage

	B)
	That her comments are illegal

	C)
	That her comments provides grounds for a discrimination lawsuit

	D)
	That diversity can be a source of conflict within organizations

	E)
	All of these. 


	103.
	Individual strategies for reducing conflict in a diverse organization include which of the following?

	A)
	Understanding

	B)
	Empathy

	C)
	Tolerance

	D)
	Communication

	E)
	All of these. 


	104.
	Nicholas

a nurse at a large hospital

observes that his female coworkers frequently make jokes that are insulting to men. When these jokes are made

his coworkers respond with tolerant laughter. Which of the following would be reasonable approaches to dealing with this behavior?

	A)
	A change in organization culture

	B)
	An organizational policy against gender-related jokes

	C)
	Nicholas communicating his discomfort with these jokes

	D)
	Intervention from a manager who has had diversity training

	E)
	All of these. 


	105.
	Tyrell

a labor organizer

finds that 75 percent of bargaining unit members have signed authorization cards. This means that

	A)
	the union is now formed.

	B)
	the union fails

because the percentage of signers must be higher.

	C)
	collective bargaining has begun.

	D)
	the union will now go on strike.

	E)
	the National Labor Relations Board will hold an election. 


	106.
	Which of the following is a discussion process between union and management that focuses on agreeing to a written contract that will cover all relevant aspects of their relationship?

	A)
	Labor relations

	B)
	Collective bargaining

	C)
	The grievance procedure

	D)
	Certification

	E)
	Arbitration 


	107.
	During the term of a labor contract

disputes are resolved by

	A)
	the union

which goes on strike.

	B)
	the union members

who vote on the issue.

	C)
	the grievance procedure.

	D)
	the National Labor Relations Board.

	E)
	management. 


	108.
	The means by which a labor agreement is enforced is the

	A)
	grievance procedure.

	B)
	union rights clause.

	C)
	management rights clause.

	D)
	union security clause.

	E)
	strike/lockout clause. 


	109.
	Which of the following is likely to be part of a collective bargaining agreement?

	A)
	Wages

	B)
	Hours of employment

	C)
	Layoff procedures

	D)
	Disciplinary procedures

	E)
	All of these. 


	110.
	Advantages of contingent workers include all EXCEPT

	A)
	flexibility.

	B)
	wage reduction.

	C)
	benefit reduction.

	D)
	performance improvement.

	E)
	reduced need for career planning. 


	111.
	Spouses of military members used to complain they could not find jobs because they moved every three years with the military.  But with the increased demand for ________ some organizations value the ability to make a relatively short-term commitment by hiring them.

	A)
	temporary workers

	B)
	emergent workers

	C)
	task-oriented employees

	D)
	job-specific employees

	E)
	knowledge workers 


	112.
	Ingrid is excited about her new job.  She thinks it will be exciting

fulfilling

rewarding

and allow her the standard of living she is looking for.  She has made a(n) ________ with her new employer.

	A)
	inducement

	B)
	psychological contract

	C)
	contribution

	D)
	contributory expectation

	E)
	mental “picture” 


	113.
	Annika is talented

motivated

professional

and loyal.  These are example of her

	A)
	inducements.

	B)
	intangibles.

	C)
	psychological contracts.

	D)
	contributions.

	E)
	competencies. 


	114.
	If you accept a position with an organization that promises you advancement opportunities

the organization is providing

	A)
	competencies.

	B)
	psychological contracts.

	C)
	contributions.

	D)
	tangibles.

	E)
	inducements. 


	115.
	In order for the psychological contract to work properly

	A)
	inducements from the organization must be appropriate for the contribution made by the employee.

	B)
	both the organization and the employee must perceive the contract as fair and equitable.

	C)
	the contract must be written and executed in such a way that it is legally binding.

	D)
	All of these.

	E)
	Only “inducements from the organization must be appropriate for the contribution made by the employee” and “both the organization and the employee must perceive the contract as fair and equitable.” 


	116.
	Abraham feels that he works much harder than do others in his firm who make the same salary. Abraham is experiencing poor

	A)
	person-job fit.

	B)
	tangible and intangible match.

	C)
	contribution-competency fit.

	D)
	cognitive component.

	E)
	contribution component. 


	117.
	If the organization gives more reward to an employee than is appropriate based on his or her contribution to the organization

this is referred to as an ineffective

	A)
	management style.

	B)
	value system.

	C)
	person-job fit.

	D)
	attitude structure.

	E)
	contribution component. 


	118.
	_____________ is the relatively stable set of psychological and behavioral attributes that distinguish one person from another.

	A)
	Behavior

	B)
	Perception

	C)
	Attribution

	D)
	Personality

	E)
	Motivation 


	119.
	A person's ability to get along with others in an organization is known as

	A)
	locus of control.

	B)
	conscientiousness.

	C)
	Machiavellianism.

	D)
	authoritarianism.

	E)
	agreeableness. 


	120.
	Mary is abrasive and makes sarcastic comments to anyone who comes into the office.  She is critical of every facet of people she works with.  In terms of the “Big Five” personality traits

she has low

	A)
	locus of control.

	B)
	conscientiousness.

	C)
	Machiavellianism.

	D)
	authoritarianism.

	E)
	agreeableness. 


	121.
	Charlene believes that if she works hard enough

she will receive the promotion she deserves. Charlene has

	A)
	high risk propensity.

	B)
	a dogmatic set of beliefs.

	C)
	an internal locus of control.

	D)
	an external locus of control.

	E)
	a high level of competency. 


	122.
	A person's range of interests is captured in the personality trait of

	A)
	self-efficacy.

	B)
	openness.

	C)
	self-monitoring.

	D)
	risk propensity.

	E)
	dogmatism. 


	123.
	James gets his energy from other people

likes the big picture

makes gut decisions

and completes work before moving on to the next project.  His traits illustrate the ________ dimensions of the Myers-Briggs Type Indicator.

	A)
	extrovert

intuitive

thinking

judge

	B)
	extrovert

intuitive

feeling

judge

	C)
	introvert

intuitive

feeling

judge

	D)
	introvert

sensing

thinking

judge

	E)
	introvert

sensing

feeling

perceiver 


	124.
	Theresa gets her energy from solitude

prefers detail-oriented concrete projects

uses logical reasoning

and enjoys seeing a finished product.  Her traits illustrate the ________ dimensions of the Myers-Briggs Type Indicator.

	A)
	extrovert

intuitive

thinking

judge

	B)
	extrovert

intuitive

feeling

judge

	C)
	introvert

intuitive

feeling

judge

	D)
	introvert

sensing

thinking

judge

	E)
	introvert

sensing

feeling

perceiver 


	125.
	A supervisor who experiments with new ideas

takes a chance with new products

and leads his or her department in new directions has high

	A)
	locus of control.

	B)
	self-esteem.

	C)
	self-monitoring.

	D)
	competencies.

	E)
	risk propensity. 


	126.
	The degree to which a person believes that they are a worthwhile deserving individual is known as

	A)
	self-esteem.

	B)
	conformity.

	C)
	Machiavellianism.

	D)
	authoritarianism.

	E)
	risk propensity. 


	127.
	The beliefs and feelings that people have about specific ideas

situations

and people are known as

	A)
	personality attributes.

	B)
	attitudes.

	C)
	perceptions.

	D)
	characteristics.

	E)
	behaviors. 


	128.
	Jocelyn knows that Al Gore won the presidential election of 2000

because he received the most votes.  Michelle knows that George W. Bush won the election because he is President.  The ________ components of their attitudes differ.

	A)
	cognitive

	B)
	intentional

	C)
	affective

	D)
	cognitive dissonance

	E)
	None of these. 


	129.
	When Tonio says about one of his group's customers: “I think Company XYZ is far worse than Company ABC

” this is an example of which component of an attitude?

	A)
	Cognitive dissonance

	B)
	Cognitive

	C)
	Affective

	D)
	Intentional

	E)
	None of these. 


	130.
	When a manager says about one of his or her organization's suppliers: “I'll never do business with that company again

” this is an example of which component of an attitude?

	A)
	Cognitive

	B)
	Cognitive dissonance

	C)
	Affective

	D)
	Intentional

	E)
	None of these. 


	131.
	The _____________ component of an attitude reflects feelings and emotions an individual has toward something.

	A)
	affective

	B)
	intentional

	C)
	affirmative

	D)
	cognitive

	E)
	dissonance 


	132.
	After working in a fast-food restaurant for three years to pay for  college tuition

Ty vowed never to eat in a fast-food restaurant again. But years later Ty's children love nothing better than a fast-food kid's meal.  Ty's  acceptance of the kid's menu choice creates

	A)
	a setback.

	B)
	cognitive dissonance.

	C)
	affective dissonance.

	D)
	intentional dissonance.

	E)
	behavioral dissonance. 


	133.
	Cognitive dissonance is the conflict that individuals experience among their own

	A)
	behavior.

	B)
	work group.

	C)
	attitudes.

	D)
	perceptions.

	E)
	All of these. 


	134.
	Which of the following is a likely outcome of job dissatisfaction?

	A)
	Decreased turnover

	B)
	Lower levels of performance

	C)
	Positive organizational contributions

	D)
	Decreased absenteeism

	E)
	All of these. 


	135.
	An individual's level of job satisfaction is determined by

	A)
	compensation.

	B)
	work policies.

	C)
	relationships with co-workers and supervisors.

	D)
	working conditions.

	E)
	All of these. 


	136.
	Chandra has been a bank manager at the same bank for 35 years. She is vital to the bank and has a high level of autonomy and variety in her work. Her organizational commitment is likely to be high due to her

	A)
	age.

	B)
	length of tenure with this bank.

	C)
	sense of job security.

	D)
	participation in decision-making.

	E)
	All of these. 


	137.
	Howard Schultz

the CEO of Starbucks

hires managers by looking for two qualities—integrity and passion.  According to Schultz

these qualities are as important as experience and abilities because he wants people to become passionate about helping the company succeed while maintaining high ethical standards that promote the organization's responsibility to society.  In other words

Schultz values

	A)
	organizational commitment.

	B)
	job satisfaction.

	C)
	selective perception.

	D)
	an external locus of control.

	E)
	high authoritarianism. 


	138.
	Individuals become aware of and interpret information about their environment through a set of processes called

	A)
	selective perception.

	B)
	perception.

	C)
	objective reality.

	D)
	stereotyping.

	E)
	perceived reality. 


	139.
	If you admire your CEO

but find out there were questionable accounting practices under his watch

you might blame only the CFO because of

	A)
	selective perception.

	B)
	perception.

	C)
	objective reality.

	D)
	stereotyping.

	E)
	perceived reality. 


	140.
	If a manager feels that women should only be doing certain tasks and men other tasks

this manager is expressing

	A)
	stereotyping.

	B)
	conscientiousness.

	C)
	extraversion.

	D)
	introversion.

	E)
	authoritarianism. 


	141.
	Nellie observes that whenever Peter calls in sick for a day

it's because he is feeling resentful of one of her decisions. Nellie makes this attribution based on

	A)
	consensus.

	B)
	consistency.

	C)
	distinctiveness.

	D)
	All of these.

	E)
	Not enough information to decide. 


	142.
	The extent to which others in the same situation behave in the same way is known as

	A)
	consistency.

	B)
	consensus.

	C)
	distinctiveness.

	D)
	stress.

	E)
	cognitive dissonance. 


	143.
	Travis observes that one of his employees always refuses to look him in the eye. He wonders if the employee lacks respect for him. Later

Travis sees that other employees also fail to look him in the eye. Travis decides that the employees are not disrespectful of him

but rather that he must be intimidating them. Travis makes this attribution based on

	A)
	consensus.

	B)
	consistency.

	C)
	distinctiveness.

	D)
	All of these.

	E)
	None of these. 


	144.
	In the __________ stage of the General Adaptation Syndrome

people settle down to resolving the stress

focusing on eliminating the stressor.

	A)
	alarm

	B)
	panic

	C)
	resistance

	D)
	physiological

	E)
	emotional 


	145.
	Which of the following statements BEST describes the general relationship between stress and performance?

	A)
	As stress increases

performance will decrease.

	B)
	As performance increases

so does stress.

	C)
	As stress increases

performance will increase for a time.

	D)
	As stress increases

job satisfaction will decrease.

	E)
	As stress increases

job satisfaction will increase up to an optimal level. 


	146.
	When a manager who is trying to develop a counteractive strategy to a competitor's new advertising campaign puts in many hours of overtime and eventually gives up and goes home without finishing the project

this manager is experiencing which response to stress?

	A)
	Alarm

	B)
	Resistance

	C)
	Exhaustion

	D)
	Cognitive dissonance

	E)
	None of these. 


	147.
	Which of the following is NOT a characteristic of a Type A person?

	A)
	Anxiety

	B)
	Hostility

	C)
	Compulsiveness

	D)
	Competitiveness

	E)
	Patience 


	148.
	Rhoda is relaxed and not very competitive or driven to hard work. She is exhibiting

	A)
	Type A behavior.

	B)
	burnout.

	C)
	dogmatic characteristics.

	D)
	Type B behavior.

	E)
	cognitive dissonance. 


	149.
	Organizational stressors include which of the following?

	A)
	Task demands

	B)
	Physical demands

	C)
	Role demands

	D)
	Interpersonal demands

	E)
	All of these. 


	150.
	A set of expected behaviors that is associated with a manager's job is known as

	A)
	cognitive dissonance.

	B)
	a role.

	C)
	a Type A personality.

	D)
	personality.

	E)
	authoritarianism. 


	151.
	The relationship between stress and performance

	A)
	is such that there can be too much stress or too little stress.

	B)
	tends to be similar to a learning curve.

	C)
	is negative.

	D)
	is positive.

	E)
	has yet to be researched properly. 


	152.
	Which of the following can be a consequence of stress?

	A)
	Sleep disturbances

	B)
	Poor performance

	C)
	Alcoholism

	D)
	Burnout

	E)
	All of these. 


	153.
	Consequences of organizational stress include all of the following EXCEPT

	A)
	motivation.

	B)
	boredom.

	C)
	depression.

	D)
	alcoholism.

	E)
	exhaustion. 


	154.
	Research suggests that creative people have which of the following personality traits?

	A)
	Openness

	B)
	Independence

	C)
	An attraction to complexity

	D)
	Strong self-confidence

	E)
	All of these 


	155.
	Zunita is pursuing an MBA because she feels that this degree will help her be more creative on the job. Zunita is experiencing which stage of the creative process during this graduate study?

	A)
	Insight

	B)
	Incubation

	C)
	Preparation

	D)
	Verification

	E)
	Cognitive dissonance 


	156.
	__________  thinking allows people to see similarities between situations or events.

	A)
	Differentiated

	B)
	Divergent

	C)
	Cognitive

	D)
	Creative

	E)
	Convergent 


	157.
	Celeste is able to examine phenomena that

at first

appear to be different

and see subtle similarities.  To do this

Celeste is using __________ thinking.

	A)
	differentiated

	B)
	divergent

	C)
	cognitive

	D)
	creative

	E)
	convergent 


	158.
	Archimedes

an ancient Greek scientist

was trying to figure out how to test the purity of gold used in manufacturing the king's crown. One day

while sitting in his tub

he realized that he could use the displacement of water for the measurement. Excited by his realization

he shouted

“Eureka!

” which means “I've found it!

” and ran through the streets of ancient Syracuse

naked and wet. At the moment when Archimedes shouted

he was experiencing which stage of the creative process?

	A)
	Preparation

	B)
	Incubation

	C)
	Insight

	D)
	Verification

	E)
	Cognitive dissonance 


	159.
	Since the time of Archimedes' discovery and subsequent use of water displacement as a means of measuring the composition of materials

thousands of other scientists have performed countless experiments to determine the validity of this method. Their works are considered part of the __________ stage of the creative process.

	A)
	preparation

	B)
	verification

	C)
	insight

	D)
	incubation

	E)
	cognitive dissonance 


	160.
	_____________ is the pattern of action by organization members that directly or indirectly influences organizational effectiveness.

	A)
	Workplace behavior

	B)
	Workplace action

	C)
	Organizational behavior

	D)
	Performance behavior

	E)
	Withdrawal behavior 


	161.
	If you are a reporter for a newspaper

you are expected to write

edit

and proofread stories by the paper's deadline. These expectations are referred to as

	A)
	workplace behaviors.

	B)
	performance behaviors.

	C)
	withdrawal behaviors.

	D)
	job attributes.

	E)
	organizational citizenship. 


	162.
	For which of the following jobs would performance behaviors be most easily measured?

	A)
	High school math teacher

	B)
	Pizza delivery driver

	C)
	Professional opera singer

	D)
	All of these would be equally easy.

	E)
	None of these would be easy. 


	163.
	Jared called in sick so he could go golfing. This is an example of

	A)
	turnover.

	B)
	role conflict.

	C)
	absenteeism.

	D)
	verification.

	E)
	introversion. 


	164.
	When a manager leaves his or her job to accept a job at another organization

the organization left behind is experiencing

	A)
	cognitive dissonance.

	B)
	turnover.

	C)
	absenteeism.

	D)
	stereotyping.

	E)
	burnout. 


	165.
	Lucy's work is above average as far as quality and quantity of production goes; however

she refuses to do anything beyond the strict performance of her required job tasks. This is an example of

	A)
	cognitive dissonance.

	B)
	a Type B personality.

	C)
	poor organizational citizenship.

	D)
	burnout.

	E)
	a person with an external locus of control. 


	166.
	Individual behavior that makes a positive overall contribution to an organization is called

	A)
	performance behavior.

	B)
	positive inducement.

	C)
	motivational behavior.

	D)
	organizational citizenship.

	E)
	perceptive contribution. 


	167.
	__________ is the set of forces that cause people to behave in certain ways.

	A)
	Motivation

	B)
	Management

	C)
	Perception

	D)
	Personality

	E)
	Compensation 


	168.
	According to the text

performance is basically determined by

	A)
	intelligence

environmental influences

and ability.

	B)
	ability

motivation

and the work environment.

	C)
	motivation

experience

and subordinates.

	D)
	inner drives

psychological needs

and motivation.

	E)
	motivation

intelligence

and ability. 


	169.
	When Madeline lived in Korea she decided to cook enchiladas.  The store she used had sold out of sour cream.  Madeline substituted onion chip dip.  Madeline's motivation to think creatively began with the store's

	A)
	deficiency.

	B)
	need.

	C)
	resource.

	D)
	environment.

	E)
	All of these. 


	170.
	According to the motivation framework presented in your text

after a worker notices an unfilled need

the next step is

	A)
	choosing a behavior that satisfies the need.

	B)
	determining future needs.

	C)
	searching for ways to satisfy the need.

	D)
	evaluating need satisfaction.

	E)
	None of these. 


	171.
	Howard Schultz

the CEO of Starbucks

hires managers by looking for two qualities—integrity and passion.  According to Schultz

these qualities are as important as experience and abilities because he wants people to become passionate about helping the company succeed while maintaining high ethical standards that promote the organization's responsibility to society.  In other words

Schultz wants people with integrity that have

	A)
	motivation.

	B)
	ability.

	C)
	access to resources.

	D)
	drive.

	E)
	personality. 


	172.
	Which of the following perspectives on motivation concerns “what” motivates people rather than “how” they are motivated?

	A)
	Reinforcement

	B)
	Process

	C)
	Content

	D)
	Equity

	E)
	Expectancy 


	173.
	Which of the following factors would not be included in Maslow's physiological needs category?

	A)
	Air

	B)
	Food

	C)
	Safety

	D)
	Sex

	E)
	Water 


	174.
	Unions usually bargain for retirement packages and good medical plans. Recently

they have negotiated for advance notice of plant closings. What need level from Maslow's hierarchy do these demands represent?

	A)
	Physiological

	B)
	Esteem

	C)
	Belongingness

	D)
	Security

	E)
	Self-actualization 


	175.
	The Japanese used to have lifetime employment with one company.  But in the 90s the Japanese economy experienced serious setbacks and Japanese workers were forced to address ________ needs previously almost guaranteed.

	A)
	esteem

	B)
	belongingness

	C)
	self-actualization

	D)
	security

	E)
	physiological 


	176.
	According to Maslow

the need to have a safe physical and emotional environment is a(n) __________ need.

	A)
	esteem

	B)
	physiological

	C)
	psychological

	D)
	security

	E)
	social 


	177.
	Chelsea Lumber Company has added a lucrative retirement plan for its employees that includes medical benefits for retirees. These benefits target which level of need in Maslow's hierarchy?

	A)
	Social

	B)
	Esteem

	C)
	Security

	D)
	Physiological

	E)
	Self-actualization 


	178.
	According to Maslow's hierarchy

when a worker satisfies his or her security needs

what will he or she do next?

	A)
	Nothing—they are now satisfied and don't need to do more.

	B)
	Work to satisfy self-esteem needs

	C)
	Regress to fulfilling physiological needs again

	D)
	Work to satisfy belongingness needs

	E)
	Maslow doesn't make a prediction about what they would do next. 


	179.
	Song

the low-fare carrier of Delta Air Lines

announced an agreement with designer Kate Spade to design flight attendant uniforms.  Song is attempting to meet flight attendant's ________ needs.

	A)
	esteem

	B)
	psychological

	C)
	security

	D)
	belongingness

	E)
	self-actualization 


	180.
	According to Maslow

the need that people have for respect and recognition is the need for

	A)
	achievement.

	B)
	security.

	C)
	self-respect.

	D)
	belongingness.

	E)
	esteem. 


	181.
	According to Maslow

the need to continue to grow

develop

and expand our capabilities is a(n) __________ need.

	A)
	esteem

	B)
	social

	C)
	self-actualization

	D)
	security

	E)
	physiological 


	182.
	Tonisha wants to be given a job to do and then left alone to do it. She sets difficult goals for herself

gets really involved in her work

and has a strong need to finish the project and start a new one.  In which of the following needs is Tonisha high?

	A)
	Achievement

	B)
	Affiliation

	C)
	Power

	D)
	Security

	E)
	Potential 


	183.
	Oprah's Book Club includes millions of readers who not only enjoy reading but also are fulfilling their need for ________.

	A)
	esteem

	B)
	power

	C)
	affiliation

	D)
	security

	E)
	achievement 


	184.
	The theory that assumes that people make choices from among alternative plans of behavior based on their perceptions of the relationship between a given behavior and desired outcomes is __________ theory.

	A)
	two-factor

	B)
	equity

	C)
	reinforcement

	D)
	expectancy

	E)
	Maslow's need hierarchy 


	185.
	Palash notices that no matter how high or low his production

his boss does not give him any reward or punishment. Which of the following is true for Palash?

	A)
	His efforts are low.

	B)
	His performance-to-outcome expectancy is low.

	C)
	The sum of his outcome valences is high.

	D)
	His effort-to-performance expectancy is low.

	E)
	None of these. 


	186.
	John works for the federal government.  He perceives that he can't be fired and the only way he will get promoted is if the person above him leaves.  He has

	A)
	low effort-to-performance expectancy

and low performance-to-outcome expectancy.

	B)
	low effort-to-performance expectancy

and high performance-to-outcome expectancy.

	C)
	high effort-to-performance expectancy

and low performance-to-outcome expectancy.

	D)
	high effort-to-performance expectancy

and high performance-to-outcome expectancy.

	E)
	zero valence. 


	187.
	A basketball coach has been told that she will get a $50

000 bonus if her team wins the NCAA championship.  She has also been informed that she will be fired if she does not get her team into the 16-team championship tournament.  Which motivation theory is her university's athletic director most likely using?

	A)
	Equity theory

	B)
	Maslow's needs hierarchy

	C)
	Two-factor theory

	D)
	Expectancy theory

	E)
	None of these. 


	188.
	Which of the following motivational theories is based on the idea that employees compare the treatment they receive relative to others' treatment in order to determine if they are being treated fairly?

	A)
	Expectancy

	B)
	Reinforcement

	C)
	Equity

	D)
	Hierarchy of needs

	E)
	Two-factor 


	189.
	Which of the following is a process theory of motivation?

	A)
	Maslow's need hierarchy

	B)
	McClelland's work on need for power

	C)
	McClelland's work on need for achievement

	D)
	Two-factor theory

	E)
	Equity theory 


	190.
	What is the most important idea for managers to remember from equity theory?

	A)
	Over-rewarded employees perform best.

	B)
	Under-rewarded employees perform best.

	C)
	For rewards to motivate employees

employees must perceive them as being fair.

	D)
	Employees must consider their inputs equal to the inputs of their “comparison other.”

	E)
	Employees must consider their outcomes equal to the outcomes of their “comparison other.” 


	191.
	Eleanor perceives that where she works everyone gets rewarded just for showing up.  She evaluates this as unfair since performance varies with each individual.  According to Porter and Lawler she will

	A)
	be satisfied.

	B)
	be self-actualized.

	C)
	be dissatisfied.

	D)
	have valence.

	E)
	be motivated. 


	192.
	Nate perceives that no matter how much he studies he won't do as well as Carol on the test.  What makes it worse is Carol doesn't even study.  According to equity theory Nate will

	A)
	study harder.

	B)
	lower his goal.

	C)
	tell Carol to study.

	D)
	study with Carol.

	E)
	None of these. 


	193.
	Austin told Emily to make the newsletter bigger.  The goal that Emily was given lacks goal

	A)
	specificity.

	B)
	acceptance.

	C)
	conformity.

	D)
	congruity.

	E)
	difficulty. 


	194.
	Which of the following motivational perspectives says that people will repeat those behaviors that bring desirable consequences and avoid those behaviors that fail to bring desirable consequences?

	A)
	Equity theory

	B)
	Expectancy theory

	C)
	Two-factor theory

	D)
	Hierarchy of needs theory

	E)
	Reinforcement theory 


	195.
	Oscar likes to pass along gossip about coworkers to his supervisor

but his supervisor ignores his comments and keeps talking about work-related issues. His supervisor is using _________ to weaken Oscar's behavior.

	A)
	avoidance

	B)
	extinction

	C)
	positive reinforcement

	D)
	punishment

	E)
	distortion 


	196.
	Sexual harassment policies and laws spell out the consequences for violation of the rules.  What kind of reinforcement procedure is this?

	A)
	Avoidance

	B)
	Extinction

	C)
	Positive reinforcement

	D)
	Punishment

	E)
	Distortion 


	197.
	Stock options granted only to the top performers provide an incentive for the behavior to continue and for others to aspire to that level.  This is an example of

	A)
	avoidance.

	B)
	extinction.

	C)
	positive reinforcement.

	D)
	punishment.

	E)
	distortion. 


	198.
	If

as a supervisor

you have no control over the pay raises

promotions

and rewards

what method(s) of reinforcement are you able to use?

	A)
	Avoidance

	B)
	Extinction

	C)
	Positive reinforcement

	D)
	Punishment

	E)
	All of these 


	199.
	When a supervisor goes around at 9:00 a.m. every morning inspecting all the facilities she is responsible for

what schedule of reinforcement is she using?

	A)
	Continuous

	B)
	Fixed-interval

	C)
	Fixed-ratio

	D)
	Variable-ratio

	E)
	Variable-interval 


	200.
	Which of the following reinforcement schedules offers a worker the least incentive to do good work?

	A)
	Fixed-interval

	B)
	Fixed-ratio

	C)
	Variable-interval

	D)
	Variable-ratio

	E)
	Continuous 


	201.
	One step in behavior modification is to determine what rewards subordinates desire most and to tie those desired rewards to desired performance.  If supervisors simultaneously ignore the unwanted behavior

then the behavior modification is centered around

	A)
	avoidance and positive reinforcement.

	B)
	avoidance and extinction.

	C)
	positive reinforcement and extinction.

	D)
	punishment and extinction.

	E)
	None of these. 


	202.
	Your employees have been “getting away” with questionable practices for the last several years

and you would now like to enforce behavior that adheres to higher standards. Which of the following is the most likely to produce effective

long-term results?

	A)
	Punish the behavior until it disappears.

	B)
	Use extinction to get rid of the behavior.

	C)
	Use punishment to get rid of the undesirable behavior and then positively reinforce the desired behavior.

	D)
	Combine extinction of the undesired behavior with positive reinforcement of the desired behavior.

	E)
	Use avoidance on the undesirable behavior and positive reinforcement of the desired behavior. 


	203.
	A supervisor is required to inspect plant facilities to determine that they are safe

clean and functional.  She often goes out on the floor two or tree times a day; other days she does not go out at all.  What reinforcement schedule is she using?

	A)
	Fixed-interval

	B)
	Fixed-ratio

	C)
	Variable-interval

	D)
	Variable-ratio

	E)
	None of these. 


	204.
	If a credit-card company that hires telemarketers to call prospective customers to try to sell them on a new credit card gives these telemarketers a $2.00 bonus for every fourth application the company receives from their phone solicitation

this is an example of which type of reinforcement schedule?

	A)
	Fixed-ratio

	B)
	Fixed-interval

	C)
	Variable-interval

	D)
	Variable-ratio

	E)
	None of these. 


	205.
	When a subordinate has outstanding performance and his or her supervisor publicly praises it

the supervisor is using

	A)
	positive reinforcement.

	B)
	punishment.

	C)
	avoidance.

	D)
	extinction.

	E)
	an intrinsic reward. 


	206.
	Quality control inspectors often randomly select items from an assembly line for inspection.  For example

they may take the twelfth

seventeenth

forty-fourth

and sixtieth items.  What reinforcement schedule are they using?  (Assume that the selected items continue to be unevenly spaced.)

	A)
	Variable-interval

	B)
	Variable-fixed

	C)
	Fixed-ratio

	D)
	Fixed-interval

	E)
	Variable-ratio 


	207.
	A manager who provides reinforcement on a periodic basis

regardless of performance

is using a __________ schedule.

	A)
	variable-interval

	B)
	variable-fixed

	C)
	fixed-ratio

	D)
	fixed-interval

	E)
	variable-ratio 


	208.
	If you want to maintain an employee's behavior at a high level with minimum fluctuations in the level of the behavior

which of the following schedules of reinforcement would be most successful?

	A)
	Fixed-interval

	B)
	Fixed-ratio

	C)
	Variable-interval

	D)
	Variable-ratio

	E)
	Continuous 


	209.
	A manager who provides reinforcement on the basis of a particular number of behaviors

rather than on the basis of time is using a __________ schedule.

	A)
	fixed-ratio

	B)
	fixed-interval

	C)
	variable-interval

	D)
	variable-ratio

	E)
	interval-ratio 


	210.
	Which of the following programs applies the concepts of reinforcement theory?

	A)
	Modified workweek

	B)
	Work redesign

	C)
	Behavior modification

	D)
	Attribution theory

	E)
	Two-factor theory 


	211.
	Which of the following motivational strategies is used to provide more autonomy and self-direction to workers?

	A)
	Empowerment

	B)
	Participation

	C)
	OB Mod

	D)
	All of these.

	E)
	Only empowerment and participation. 


	212.
	Robyn sells real estate for a large franchised organization.  She likes the fact that she is allowed to set her own work goals

make decisions

and solve problems having to do with the houses that her customers are buying and selling.  The real estate company for which Robyn works uses ________ to enhance employee motivation.

	A)
	empowerment

	B)
	participation

	C)
	a nine-eighty schedule

	D)
	flextime

	E)
	avoidance 


	213.
	Cheri and Aaron both wanted to work part-time

and they found a lawyer who was willing to split one full-time paralegal job between the two of them so that Cheri works mornings and Aaron works afternoons. This arrangement is known as

	A)
	flextime.

	B)
	participation.

	C)
	OB Mod.

	D)
	job sharing.

	E)
	reinforcement. 


	214.
	Blanca works as a technical writer

writing software-user manuals. She works at her office only one day per week and then puts in four days of work from her office at home

communicating with her coworkers by phone and e-mail. Blanca is using which type of alternative work arrangement?

	A)
	Flextime

	B)
	Telecommuting

	C)
	Job sharing

	D)
	A variable-interval schedule

	E)
	None of these. 


	215.
	The most basic method of managing employee motivation is

	A)
	job design.

	B)
	the reward system.

	C)
	labor relations.

	D)
	job classification.

	E)
	recruiting and selection. 


	216.
	Organizational rewards can affect which of the following?

	A)
	Attitudes

	B)
	Behaviors

	C)
	Motivation

	D)
	All of these.

	E)
	None of these. 


	217.
	Which of the following is a basic characteristic of an effective reward system?

	A)
	Rewards are distributed fairly.

	B)
	The reward system is multifaceted.

	C)
	The rewards satisfy employees' basic needs.

	D)
	The rewards are comparable to those offered in other organizations.

	E)
	All of these. 


	218.
	Brad compares his salary to Theodore's and notices that his salary is higher. Which of the following is therefore true about Brad's motivation?

	A)
	Can't tell about Brad's motivation—would need to compare Brad's and Theodore's intrinsic rewards also.

	B)
	Can't tell about Brad's motivation—would need to know whether salary is a reward that Brad desires and values.

	C)
	Can't tell about Brad's motivation—would need to compare the total package of compensation

not just the salary component.

	D)
	Can't tell about Brad's motivation—would need to compare Brad's and Theodore's inputs also.

	E)
	All of these. 


	219.
	Idalia works as an entry-level consultant at a management consulting firm. Partners in the firm make about 10 times more salary than do entry-level consultants. Which principle of reward systems is her employer violating?

	A)
	Meet the needs of individuals for basic necessities

	B)
	Pay rewards comparable to other organizations' rewards

	C)
	Distribute rewards fairly throughout the organization

	D)
	Recognize that different people need different rewards

	E)
	All of these. 


	220.
	To stay current in their profession

accountants have to take a minimum number of continuing education course annually.  Accountants in the firm of Dunkirk and Wood who take additional classes are rewarded through a ________ plan.

	A)
	fixed-rate pay

	B)
	profit sharing

	C)
	gain sharing

	D)
	profit-for-work

	E)
	merit pay 


	221.
	A manager gives her employees a bonus every month in which they exceed their sales quota. This type of incentive pay is known as

	A)
	fixed-rate pay.

	B)
	profit sharing.

	C)
	gain sharing.

	D)
	lump-sum bonus.

	E)
	pay-for-knowledge. 


	222.
	Leadership is

	A)
	a process.

	B)
	a property.

	C)
	using influence to shape behavior without using force.

	D)
	a set of characteristics found in people who are leaders.

	E)
	all of these. 


	223.
	Managers and leaders differ in

	A)
	how they create an agenda.

	B)
	how they achieve the agenda.

	C)
	how they execute the agenda.

	D)
	the type of outcomes they achieve.

	E)
	all of these. 


	224.
	Which of the following is an example of an individual who is leading?

	A)
	A person identifying defects

	B)
	A person organizing staff functions

	C)
	A friend convincing you to try a new restaurant

	D)
	A person planning detailed evaluations

	E)
	All of these 


	225.
	Which of the following is NOT a type of power?

	A)
	Reward

	B)
	Legitimate

	C)
	Referent

	D)
	Expert

	E)
	Empathy 


	226.
	Jessica, a middle manager, does what her boss tells her to do because her boss controls her salary and promotion opportunities. This type of influence is known as

	A)
	rational persuasion.

	B)
	positive reinforcement.

	C)
	referent power.

	D)
	directive leadership.

	E)
	reward power. 


	227.
	If leaders are able to offer or withhold rewards, what type of power do they have?

	A)
	Coercive

	B)
	Reward

	C)
	Legitimate

	D)
	Expert

	E)
	Referent 


	228.
	Punishment involves the use of __________ power.

	A)
	legitimate

	B)
	reward

	C)
	referent

	D)
	expert

	E)
	coercive 


	229.
	General Abizaid, commander of Central Command for the U.S. Army, has ________ power by virtue of his title.

	A)
	expert

	B)
	legitimate

	C)
	referent

	D)
	reward

	E)
	coercive 


	230.
	An editor who assigns coveted assignments has _______ power.

	A)
	expert

	B)
	legitimate

	C)
	referent

	D)
	reward

	E)
	coercive 


	231.
	Which of the following is a possible reward for a manager to use who wants to exercise reward power toward his or her subordinates?

	A)
	A cash bonus

	B)
	A recommendation for promotion

	C)
	An interesting job task

	D)
	A salary increase

	E)
	All of these. 


	232.
	A manager possesses more coercive power when the elements he or she controls are __________ punitive and __________ important to subordinates.

	A)
	less; less

	B)
	less; more

	C)
	more; more

	D)
	more; less

	E)
	None of these. 


	233.
	A supervisor's use of coercion also involves the

	A)
	use of distortion.

	B)
	use of extinction.

	C)
	use of positive reinforcement.

	D)
	loss of leadership.

	E)
	loss of persuasion. 


	234.
	Actor Ronald Reagan became President.  Wrestler Jessie Ventura and actor Arnold Schwarzenegger became Governors.  There is a political theory that because of the ________ powers these men have, their election to public office was virtually guaranteed.

	A)
	referent

	B)
	reward

	C)
	legitimate

	D)
	coercive

	E)
	expert 


	235.
	Andrea, the deputy director of public relations, has been with the firm 27 years.  Her primary power is

	A)
	legitimate

	B)
	technological

	C)
	expert

	D)
	referent

	E)
	coercive 


	236.
	A scientist in the R&D department who is capable of making an important discovery possesses which type of power?

	A)
	Referent

	B)
	Expert

	C)
	Reward

	D)
	Coercive

	E)
	None of these. 


	237.
	Gina dresses like her supervisor, uses the same expressions, and has also taken up golf, her boss's favorite sport.  Gina's supervisor has ________ power.

	A)
	legitimate

	B)
	technological

	C)
	expert

	D)
	referent

	E)
	coercive 


	238.
	Melissa was hired as a manager based on her display of great self-confidence and her intelligence.  The assumptions under which Melissa received her job offer are based on the usefulness of ________ in predicting who will make a good leader.

	A)
	leadership behaviors

	B)
	leadership traits

	C)
	leadership style

	D)
	leadership challenges

	E)
	None of these. 


	239.
	What approach to identifying a leader are you using if you vote for a politician based on his or her communication skills, intelligence, education, and assertiveness?

	A)
	LPC

	B)
	Vroom's decision tree approach

	C)
	Path-goal theory

	D)
	Trait

	E)
	Fiedler's contingency 


	240.
	The behavior that is called “job-centered leader behavior” in the Michigan studies is similar to the behavior called __________ in the Ohio State studies, and __________ in the Leadership Grid.

	A)
	initiating-structure; concern for production

	B)
	consideration; concern for people

	C)
	concern for production; initiating-structure

	D)
	concern for people; consideration

	E)
	None of these. 


	241.
	In the Marine Corps subordinates want tough, effective training that they know will some day save their lives.  If you apply the Michigan studies in this case, the subordinates want

	A)
	initiating-structure.

	B)
	consideration.

	C)
	concern for production.

	D)
	concern for people.

	E)
	a job-centered leader. 


	242.
	In the Ohio State studies, employees of supervisors who ranked __________ on initiating structure were __________ performers and expressed __________ levels of satisfaction.

	A)
	high; poor; low

	B)
	high; high; low

	C)
	low; high; low

	D)
	low; poor; high

	E)
	None of these. 


	243.
	At the opposite ends of the single continuum used by the Michigan studies are the leader's __________ and __________.

	A)
	initiating-structure behavior; consideration behavior

	B)
	job-centered leader behavior; employee-centered leader behavior

	C)
	concern for production; concern for people

	D)
	task-oriented behavior; relationship-oriented behavior

	E)
	None of these. 


	244.
	In the Marine Corps subordinates want tough effective training that they know will some day save their lives.  Marines also want to be well taken care of by a supportive leader.  Marine desires for tough training and supportive leaders supports the ________ model of leadership behavior.

	A)
	trait approach

	B)
	Ohio State studies

	C)
	Vroom-Yetton-Jago

	D)
	Fiedler

	E)
	Michigan studies 


	245.
	In which of the following theories can leadership behavior be focused on relationships with people and on work performance at the same time?

	A)
	Ohio State studies

	B)
	Leadership Grid

	C)
	Michigan studies

	D)
	All of these.

	E)
	Only the Ohio State studies and the Leadership Grid. 


	246.
	In the Leadership Grid, the ideal manager behavior is represented by a 9,9 “team” manager, who has high concern for both __________ and __________.

	A)
	structure; people

	B)
	people; production

	C)
	leadership; production

	D)
	finances; operations

	E)
	managers; workers 


	247.
	The Leadership Grid shows that Paul is a 1,1 leader. Which of the following is therefore true about Paul's leadership?

	A)
	Paul has little concern for people or for work performance.

	B)
	Paul is an effective leader.

	C)
	Paul is the #1 (best) type of leader.

	D)
	All of these.

	E)
	Only “Paul has little concern for people or for work performance” and “Paul is an effective leader.” 


	248.
	All of the following are situational theories of leadership EXCEPT

	A)
	the LPC model.

	B)
	the path-goal model.

	C)
	Vroom's decision tree approach.

	D)
	the Ohio State Studies.

	E)
	None of these are situational theories of leadership. 


	249.
	What is the basic assumption of situational approaches to leadership?

	A)
	Increasing worker job satisfaction through considerate leadership will get the best results.

	B)
	Initiating structure for employees so they know exactly what needs to be done will be most effective.

	C)
	The appropriate leader style will vary from one set of circumstances to another.

	D)
	Effective leaders can be identified by certain traits that are situationally specific.

	E)
	Some factors make leader behavior unnecessary. 


	250.
	Which of the following is a situational leadership model?

	A)
	Trait approach

	B)
	Michigan studies

	C)
	Ohio State studies

	D)
	Leadership Grid

	E)
	Path-goal theory 


	251.
	What score does Fiedler use to determine leader style?

	A)
	Leadership grid

	B)
	Task structure

	C)
	Flexibility

	D)
	Least Preferred Coworker

	E)
	Leader position coordinator 


	252.
	According to Fiedler, a task is structured when it is

	A)
	routine, difficult to understand, and unambiguous.

	B)
	routine, easy to understand, and ambiguous.

	C)
	nonroutine, difficult to understand, and ambiguous.

	D)
	routine, easy to understand, and unambiguous.

	E)
	None of these. 


	253.
	In Fiedler's model, a ________ LPC score is said to reflect a __________ orientation and a __________ LPC score is said to reflect a(n) __________ orientation.

	A)
	high; relationship; low; task

	B)
	high; task; low; relationship

	C)
	low; relationship; high; task

	D)
	low; task; high; initiating-structure

	E)
	None of these. 


	254.
	In Fiedler's model, favorable situations are those which have good leader-member relations, a(n) __________  task, and __________ leader position-power.

	A)
	unstructured; weak

	B)
	structured; strong

	C)
	unstructured; weak

	D)
	structured; strong

	E)
	None of these. 


	255.
	Daniel has been appointed leader of a project task force.   His legitimate power in this position is minimal.  The task is unstructured since no guidelines exist for the project.  Also, Daniel has had some personality clashes with some of the task force members, so leader-member relations are poor.  According to Fiedler's LPC theory, what type of leadership style is appropriate in this situation?

	A)
	Task-oriented

	B)
	Relationship-oriented

	C)
	Participative

	D)
	Transformational leadership

	E)
	None of these. 


	256.
	Kamali and Maggie have been asked by their manager to develop the bank's first-ever web site. In Fiedler's model, this task would be described as low in

	A)
	task structure.

	B)
	leader-member relations.

	C)
	position power.

	D)
	All of these.

	E)
	None of these. 


	257.
	David tells his people his standards, schedules work for his section, and gives his people updates on standard achievement.  Based on the path-goal theory, what kind of leader behaviors is David exhibiting?

	A)
	Supportive

	B)
	Directive

	C)
	Achievement-oriented

	D)
	Participative

	E)
	Bureaucratic 


	258.
	Which of the following leadership models is a direct extension of the expectancy theory of motivation?

	A)
	Vroom's decision tree approach

	B)
	Fiedler's contingency

	C)
	Vertical-dyad linkage

	D)
	Path-goal

	E)
	Substitutes for leadership 


	259.
	In contrast to Fiedler's theory, path-goal theory assumes that leaders

	A)
	have little tolerance for their least-preferred coworker.

	B)
	can change their leadership style to fit the demands of a particular situation.

	C)
	should maintain a consistent leadership style to avoid confusing subordinates.

	D)
	must find a fit between their leader styles and the situation.

	E)
	should always maintain a participative leader style. 


	260.
	When Scott purchased a struggling neighborhood bookstore, people thought he was crazy, but he had a vision of a place that would attract young readers.  He had to convince investors and the store's former employees that such a scheme would work.  According to the Vroom-Yetton-Jago decision tree model, Scott used which decision-making style?

	A)
	Consult individual

	B)
	Facilitate

	C)
	Delegate

	D)
	Participate

	E)
	Decide 


	261.
	According to Vroom's decision tree approach, what is the best measure of decision effectiveness?

	A)
	Concern for production and concern for people

	B)
	Availability of information and how structured the situation is

	C)
	The decision style used

	D)
	LPC score and situational favorableness

	E)
	Decision quality and subordinate acceptance of the decision 


	262.
	Which of the following is a factor that may neutralize or substitute for leadership?

	A)
	Routineness

	B)
	Availability of feedback

	C)
	Intrinsic satisfaction

	D)
	Formalization

	E)
	All of these. 


	263.
	________ leadership is a contemporary perspective that focuses on a leader's personality and ability to inspire loyalty and enthusiasm.

	A)
	Charismatic

	B)
	Entrepreneurial

	C)
	Symbolic

	D)
	Integrative

	E)
	Participative 


	264.
	The concept of charismatic leadership is most closely related to

	A)
	Vroom-Yetton-Jago.

	B)
	the trait approach.

	C)
	Fiedler's contingency theory.

	D)
	substitutes for leadership.

	E)
	path-goal theory. 


	265.
	Lee Iacocca was able to get employees at Chrysler to identify with the ideal of a new Chrysler Corporation to the extent that unions were willing to take pay cuts and people worked with a sense of mission for the first time in years.  Which of the following BEST describes Iacocca in this role?

	A)
	Directive leader

	B)
	Participative leader

	C)
	Transformational leader

	D)
	Supportive leader

	E)
	Task-oriented leader 


	266.
	A text identified seven keys to transformational leadership.  Which of the following is NOT among them?

	A)
	Keeping cool

	B)
	Being an expert

	C)
	Inviting dissent

	D)
	Encouraging risk

	E)
	Encouraging complexity 


	267.
	Strategic leaders

	A)
	understand the organization.

	B)
	understand the organization's environment.

	C)
	recognize the organization's current alignment with the environment.

	D)
	work to improve the organization's current alignment with the environment.

	E)
	All of these. 


	268.
	As more companies become multi-national corporations the need for ________ leadership has increased.

	A)
	substitutes for

	B)
	charismatic

	C)
	transformational

	D)
	political

	E)
	cross-cultural 


	269.
	When CEOs failed in ethical leadership which of the following was frequently involved?

	A)
	Stonewalling

	B)
	Lying

	C)
	Blaming

	D)
	Counter suing

	E)
	All of these. 


	270.
	A manager who tells a subordinate that he will not recommend her for promotion unless she supports his proposal in an upcoming sales meeting is using which type of political behavior?

	A)
	Creation of an obligation

	B)
	Coercion

	C)
	Initiating structure

	D)
	Persuasion

	E)
	Inducement 


	271.
	Carolyn discusses and reasons with the Board of Directors until they agree to let her try her new strategic plan for a trial period. Carolyn is using

	A)
	creation of an obligation.

	B)
	persuasion.

	C)
	coercion.

	D)
	inducement.

	E)
	All of these. 


	272.
	Within ABC firm, production staff tells marketing staff that if the marketing staff continues to pressure them to speed up production, then they will stage a deliberate production slow-down. The production staff is using which type of political behavior?

	A)
	Creation of an obligation

	B)
	Coercion

	C)
	Initiating structure

	D)
	Persuasion

	E)
	Inducement 


	273.
	In a two-page ad for AT&T Canada, there was a very attractive picture of its CEO.  While this picture is unrelated to the advertising copy, it may have been included in the ad to enhance the image of the CEO with the company's stakeholders.  If this is the case, then the inclusion of the CEO's picture in the ad is probably an example of

	A)
	Creation of an obligation

	B)
	Impression management

	C)
	Initiating structure

	D)
	Persuasion

	E)
	Inducement 


	274.
	Which of the following is a possible motive for a manager to engage in political behavior?

	A)
	To protect herself from other people

	B)
	To acquire power

	C)
	To further her own agenda

	D)
	To further goals that she feels are in the best interest of the firm

	E)
	All of these. 


	275.
	Which of the following best represents an objective and unbiased view of political behavior in organizations?

	A)
	“It's bad for organizations but necessary for managers to get ahead.”

	B)
	“It's bad for the people who engage in it but has good outcomes for organizations.”

	C)
	“It is good for organizations because it makes them tougher competitors.”

	D)
	“It can be good or bad for organizations, depending on the manager's intentions.”

	E)
	None of these. 


	276.
	Which of the following best represents the view of political behavior in organizations that is most commonly held by individuals?

	A)
	“It is good for organizations because it makes them tougher competitors.”

	B)
	“It can be good or bad for organizations, depending on the manager's intentions.”

	C)
	“It's bad for organizations but necessary for managers to get ahead.”

	D)
	“It's bad for the people who engage in it but has good outcomes for organizations.”

	E)
	None of these. 


	277.
	Effective communication would be most important for

	A)
	a pilot transferring control of the aircraft.

	B)
	someone commenting about the weather.

	C)
	an after-dinner speaker at a Rotary Club meeting.

	D)
	a political speech.

	E)
	a CEO's letter in the monthly newsletter. 


	278.
	What is the difference between “communication” and “effective communication”?

	A)
	Transmission channel used

	B)
	Level of information

	C)
	Consistency of meaning

	D)
	Information technology involved

	E)
	Number of people involved 


	279.
	All of the following are examples of communication EXCEPT

	A)
	a manager addressing a large group.

	B)
	two managers talking on the telephone.

	C)
	two managers smiling at each other.

	D)
	a manager reading a letter.

	E)
	All of these are examples of communication. 


	280.
	Which of the following is NOT necessary for communication to take place?

	A)
	There must be at least two people.

	B)
	The people involved must be fairly close in terms of proximity and time.

	C)
	Someone must have information to be passed on.

	D)
	There must be an attempt to transmit the information.

	E)
	All of these. 


	281.
	Ann is looking at a stack of 200 questionnaires that her employees completed.  The questionnaires contain material about how each employee feels about 40 different things related to his or her job.  What does Ann have in her hands?

	A)
	Data that requires analyzing and organizing before they will be of value.

	B)
	Information that can be used as a basis for future actions on her part.

	C)
	Information that requires analyzing and organizing before it will be of value.

	D)
	Data that can be used as a basis for actions on her part without any further manipulation.

	E)
	Either data or information—they mean the same thing. 


	282.
	An upper-level executive at Gucci has just received a computer printout of the monthly sales figures.  The two-page analysis indicates which urban area successfully implemented a new policy, and will be useful to show to marketing.  This document is an example of

	A)
	data that marketers need to understand.

	B)
	information because it has been analyzed.

	C)
	how managers pretend that information is relevant when it isn't.

	D)
	data that are not in a format that would be useful for carrying out the company's business.

	E)
	resources used to convert data into information. 


	283.
	Information that provides a reliable and valid reflection of the real world is said to be

	A)
	accurate.

	B)
	complete.

	C)
	differentiated.

	D)
	systematic.

	E)
	dependable. 


	284.
	Information that is complete

	A)
	must be available at the appropriate time.

	B)
	must present all pertinent facts.

	C)
	must accurately reflect the real world.

	D)
	must have bearing on the problem at hand.

	E)
	All of these. 


	285.
	Twanya is the school counselor responsible for scheduling.  In looking at the data she notes student evaluations were periodically low for a teacher.  Upon further research she notes the evaluations were lowest for a Money and Banking class—considered to be difficult no matter who taught the class.  Her initial information was

	A)
	incomplete.

	B)
	inaccurate.

	C)
	relevant.

	D)
	important.

	E)
	untimely. 


	286.
	Which of the following is a method of encoding messages?

	A)
	Words

	B)
	Facial expressions

	C)
	Gestures

	D)
	Physical actions

	E)
	All of these. 


	287.
	Which of the following is a medium for transmitting a message within an organization?

	A)
	A memo

	B)
	A report

	C)
	Meetings

	D)
	E-mail messages

	E)
	All of these. 


	288.
	Which of the following factors influences the encoding process?

	A)
	The content of the message

	B)
	The familiarity of the sender and receiver

	C)
	The sender's personal distractions

	D)
	The message composition or makeup

	E)
	All of these. 


	289.
	Which of the following would NOT be considered noise in the communication process?

	A)
	Sender and receiver with different cultural backgrounds

	B)
	Sender and receiver asking questions

	C)
	A telephone call in the middle of a job interview

	D)
	Receiver under personal stress

	E)
	A new, inexperienced employee having to make a presentation to a group of top managers 


	290.
	Dale needs to tell his boss that he will be unable to finish his current project on time, but he is struggling to select the best words and phrases. This is an example of a problem with

	A)
	noise.

	B)
	decoding.

	C)
	information overload.

	D)
	channel selection.

	E)
	encoding. 


	291.
	Things that disrupt the communication process are called

	A)
	miscommunication.

	B)
	semantics.

	C)
	decoding.

	D)
	noise.

	E)
	None of these. 


	292.
	Which of the following is NOT an advantage of oral communication?

	A)
	It is accurate.

	B)
	It is easy to use.

	C)
	It facilitates feedback.

	D)
	It is comfortable for managers.

	E)
	All of these are advantages. 


	293.
	The best form of interpersonal communication to use when you have a  personal or nonroutine message to communicate is

	A)
	horizontal.

	B)
	oral.

	C)
	downward.

	D)
	written.

	E)
	upward. 


	294.
	According to the text, if you have a personal, nonroutine, or brief message to convey, the best form of interpersonal communication is probably

	A)
	oral.

	B)
	written.

	C)
	lateral.

	D)
	informal.

	E)
	downward. 


	295.
	In 2003, the United States experienced the largest blackout in U.S. history.  Initial TV and radio reports blamed a fire in a Con Edison building in New York City which turned out to be wrong.  This illustrates which disadvantage of oral communication?

	A)
	It can be quite inaccurate.

	B)
	It often creates a need for feedback.

	C)
	It is more time-consuming than written communication.

	D)
	Managers are uncomfortable using oral communication.

	E)
	None of these. 


	296.
	Oral communication is usually better than written communication when the message is

	A)
	impersonal, routine, and longer.

	B)
	personal, routine, and longer.

	C)
	impersonal, routine, and shorter.

	D)
	personal, nonroutine, and shorter.

	E)
	None of these. 


	297.
	In 2003, the United States experienced the largest blackout in U.S. history.  Papers the next morning correctly suggested a system problem west of New York that officials were still trying to identify.  This illustrates which advantage of written communication?

	A)
	Its feedback and interchange

	B)
	Its lack of clarity

	C)
	The formal implications it carries

	D)
	The time for preparation

	E)
	Its accuracy 


	298.
	In your office, it is not necessary for all members of your staff to communicate directly with each other.  In fact, the most effective communication takes place when each subordinate talks only with you because the work to be done is relatively simple.  According to the research on communications networks, what type of network would be most effective in your office?

	A)
	Chain

	B)
	Y

	C)
	Circle

	D)
	All channel

	E)
	Wheel 


	299.
	Blogs or web logs gather information from a group of people on a topic.  For example everyone who interviewed a prospective job candidate could post their assessment on a blog and comment on each other's observations.  This is an example of a(n) ________ communication network.

	A)
	all channel

	B)
	chain

	C)
	wheel

	D)
	Y

	E)
	circle 


	300.
	When the group's task is __________, __________ networks tend to perform with __________ efficiency.

	A)
	simple; centralized; greater

	B)
	simple; decentralized; poorer

	C)
	complex; decentralized; poorer

	D)
	complex; centralized; greater

	E)
	None of these. 


	301.
	When the group's task is __________, __________ networks tend to perform __________.

	A)
	routine; decentralized; better

	B)
	nonroutine; decentralized; better

	C)
	routine; centralized; worse

	D)
	nonroutine; centralized; better

	E)
	None of these. 


	302.
	Which of the following would be likely to include all forms of organizational communication?

	A)
	Peers coordinating the details of a project

	B)
	A suggestion box

	C)
	A memo from the president of the company

	D)
	A daily staff meeting

	E)
	An absenteeism report submitted by the clerk who keeps employee records 


	303.
	Which of the following is a typical content of upward communication in organizations?

	A)
	A request

	B)
	Information

	C)
	A suggestion

	D)
	A complaint

	E)
	All of these. 


	304.
	The __________ the difference in status between the superior and the subordinate, and the __________ the distrust between them, the __________ likely that the subordinate will distort information given to his or her superior.

	A)
	greater; less; more

	B)
	lesser; greater; more

	C)
	greater; greater; more

	D)
	lesser; less; more

	E)
	None of these. 


	305.
	The new president installed suggestion boxes where employees can pass along their comments to the president.  The new president is encouraging

	A)
	oral communication.

	B)
	vertical communication.

	C)
	horizontal communication.

	D)
	whistle-blowing.

	E)
	the creation of the grapevine. 


	306.
	Which of the following forms of organizational communication is very useful for coordinating the efforts of interdependent units in an organization?

	A)
	Vertical communication

	B)
	Upward communication

	C)
	Diagonal communication

	D)
	Horizontal communication

	E)
	Informal communication 


	307.
	When you book air travel on-line you receive a confirmation.  The processing of day-to-day transactions like your trip takes place in a(n) ________ .

	A)
	TPS

	B)
	MIS

	C)
	DSS

	D)
	expert system

	E)
	ESS 


	308.
	Which of the following is a system designed to aggregate many small, individual transactions to give managers information about daily budgets, schedules, and quotas?

	A)
	An expert system

	B)
	A decision support system

	C)
	A management information system

	D)
	A transaction-processing system

	E)
	None of these. 


	309.
	Which of the following shows the correct order, from the simplest, most basic data, to the most sophisticated and highly aggregated data?

	A)
	TPS, MIS, DSS, ESS

	B)
	DSS, TPS, ESS, MIS

	C)
	DSS, TPS, MIS, ESS

	D)
	TPS, DSS, ESS, MIS

	E)
	None of these. 


	310.
	A pizza chain has a computerized inventory system that keeps track of both anticipated demand and inventory on hand.  Managers can check the system for an anticipated delivery date.  This is an example of  a(n)_________ system.

	A)
	transaction-processing

	B)
	decision support

	C)
	executive support

	D)
	management information

	E)
	expert 


	311.
	Joan is the CEO of a marketing firm.  At the start of each day, she logs on to her computer and receives the trends and patterns of information important to her business.  The type of system she is using is a(n)

	A)
	expert system.

	B)
	intranet.

	C)
	TPS.

	D)
	MIS.

	E)
	ESS. 


	312.
	When the various business units of the organization compile information about themselves and make this information available to the other business units of the organization, this system is called a(n)

	A)
	Internet.

	B)
	expert system.

	C)
	EIS.

	D)
	TPS.

	E)
	intranet. 


	313.
	Information systems that are designed to imitate human thought processes are known as __________ systems.

	A)
	transaction-processing

	B)
	management information

	C)
	expert

	D)
	decision support

	E)
	integrated 


	314.
	Which of the following is NOT considered to be a form of personal electronic technology?

	A)
	TPS

	B)
	Laptop computer

	C)
	Cell phone

	D)
	Personal digital assistant

	E)
	All of these are forms of personal electronic technology. 


	315.
	Wal-Mart's information system shares inventory information with its suppliers. This is an example of a(n)

	A)
	intranet.

	B)
	extranet.

	C)
	Internet.

	D)
	videoconference.

	E)
	telecommute. 


	316.
	Telecommunication allows managers to send messages to one another through

	A)
	electronic mail systems.

	B)
	electronic bulletin boards.

	C)
	voice messaging.

	D)
	modems.

	E)
	All of these. 


	317.
	Which of the following statements about the grapevine is FALSE?

	A)
	It can be used to transmit information quickly.

	B)
	It builds a sense of togetherness.

	C)
	It is a useful way to transmit confidential information.

	D)
	It may extend beyond the organizational boundaries.

	E)
	It is often used as a way to get power. 


	318.
	Which of the following is an example of management by wandering around?

	A)
	Penny walks to the mailroom twice each day, stopping along the way to check up on each of her workers.

	B)
	Beau schedules one day per week for visiting the factory floor, just to talk with production workers.

	C)
	Mary asks her employees to attend a weekly lunch meeting, with time for informal discussion.

	D)
	All of these.

	E)
	Only “Penny walks to the mailroom twice each day, stopping along the way to check up on each of her workers” and “Beau schedules one day per week for visiting the factory floor, just to talk with production workers.” 


	319.
	Which of the following is an example of nonverbal communication?

	A)
	An e-mail message

	B)
	A facial expression

	C)
	A legal contract

	D)
	All of these.

	E)
	Only a e-mail message and a facial expression. 


	320.
	In comparison to verbal communication, nonverbal communication

	A)
	conveys more of the content of the message.

	B)
	conveys message content in a symbolic way.

	C)
	conveys message content indirectly.

	D)
	All of these.

	E)
	Only “conveys more of the content of the message” and “conveys message content in a symbolic way.” 


	321.
	In a recent conversation with a supplier, Ralph's eyes turned red, veins on his forehead bulged, and he clenched his teeth. Ralph was using __________ communication.

	A)
	ineffective

	B)
	grapevine

	C)
	informal

	D)
	nonverbal

	E)
	timely 


	322.
	Luke is only 5'3” tall.  When he meets with people he prefers to sit in chairs rather than stand.  This is an example of

	A)
	body language.

	B)
	inflection and tone.

	C)
	facial expression.

	D)
	images.

	E)
	setting. 


	323.
	All of the following are examples of individual barriers to effective organizational communication EXCEPT

	A)
	poor listening skills.

	B)
	predispositions about the topic under discussion.

	C)
	credibility about the topic of discussion.

	D)
	noise.

	E)
	conflicting cues. 


	324.
	Which of the following are examples of individual barriers to communication?

	A)
	Inconsistent signals

	B)
	Credibility

	C)
	Predispositions

	D)
	Only inconsistent signals and credibility.

	E)
	All of these. 


	325.
	Maurice asked Lyle if he had calculated the activity ratios for the last quarter.  Lyle said that he had because he had calculated turnover ratios.  Maurice was asking about performance ratios as well.  The much broader definition of activity ratios that Maurice assigned to the term led to a communication problem caused by

	A)
	semantics.

	B)
	information overload.

	C)
	status difference.

	D)
	poor listening skills.

	E)
	conflicting signals. 


	326.
	When a British student was in class he asked to borrow a rubber from the  person next to him.  An American student would have asked for the person's eraser.  The confusion was caused by

	A)
	perception.

	B)
	poor listening skills.

	C)
	status or power differences.

	D)
	information overload.

	E)
	language differences. 


	327.
	Which barrier to communication exists when the sender is NOT considered a reliable source of information?

	A)
	Overload

	B)
	Semantics

	C)
	Prejudice

	D)
	Credibility

	E)
	Poor listening habits 


	328.
	While the customer service trainer is lecturing to the group, Paul is staring out the window, daydreaming. Which type of barrier to communication does this represent?

	A)
	Semantics

	B)
	Noise

	C)
	Predisposition

	D)
	Poor listening

	E)
	None of these. 


	329.
	Which of the following individual skills for improving communication is probably most important?

	A)
	Developing good listening skills

	B)
	Being sensitive to the sender's point of view

	C)
	Being aware of meanings that other people assign to words

	D)
	Asking appropriate questions

	E)
	Being patient 


	330.
	All of the following are examples of organizational barriers to effective communication EXCEPT

	A)
	noise.

	B)
	information overload.

	C)
	reluctance to communicate.

	D)
	semantics.

	E)
	status differences. 


	331.
	When a manager sends a report to another manager and then calls that manager two days later to make sure that the report arrived, this is an example of

	A)
	regulating information flow.

	B)
	TPC.

	C)
	understanding the richness of different media.

	D)
	following up.

	E)
	information overload. 


	332.
	You are a member of the organization's accounting staff.  This means you are a member of a(n)

	A)
	interest group.

	B)
	informal group.

	C)
	team.

	D)
	task group.

	E)
	functional group. 


	333.
	Which of the following is NOT a characteristic of a group in an organization?

	A)
	It has a specific number of people.

	B)
	Its members regularly interact.

	C)
	It is created to accomplish a goal.

	D)
	It can evolve inside the normal organization structural boundaries.

	E)
	It can evolve outside the normal organization structural boundaries. 


	334.
	Which of the following is a primary factor in distinguishing among different types of groups?

	A)
	Size

	B)
	Type of leader involved

	C)
	Organizational level

	D)
	Goal or purpose

	E)
	None of these. 


	335.
	A television production company has brought together representatives from production, marketing, and finance to assess the likely success of a new reality television show.  The television production company has created a(n) _______ group.

	A)
	functional

	B)
	task

	C)
	interest

	D)
	work team

	E)
	change 


	336.
	A(n) ___________ group is created by its own members for purposes that may or may not be relevant to organizational goals.

	A)
	functional

	B)
	task

	C)
	interest

	D)
	work team

	E)
	None of these. 


	337.
	Pat has been nominated to serve on a committee to evaluate the creation of a new park.  This is an example of a(n)

	A)
	interest group.

	B)
	informal group.

	C)
	team.

	D)
	task group.

	E)
	functional group. 


	338.
	Which of the following is characteristic of a task group?

	A)
	Created to accomplish a wide range of purposes

	B)
	Formed by the members

	C)
	Has a stated or implied time horizon

	D)
	Can be an autonomous work group or a functional group

	E)
	Purposes may not be consistent with those of the organization 


	339.
	Which of the following is NOT a task group?

	A)
	A team

	B)
	A group creating a quality initiative

	C)
	A temporary committee

	D)
	Your management class

	E)
	The marketing department at Ford 


	340.
	Felicity, a member of the board of directors, served on a committee that met a total of three times to discuss salary issues related to top managers. This is an example of a

	A)
	functional group.

	B)
	work team.

	C)
	task group.

	D)
	special interest group.

	E)
	quality circle. 


	341.
	A group of workers that functions as a unit with little or no supervision in order to accomplish a work-related task or activity is called a(n)

	A)
	team.

	B)
	interest group.

	C)
	informal group.

	D)
	task force.

	E)
	functional unit. 


	342.
	Which of the following is a common reason for joining a group?

	A)
	Interpersonal attraction

	B)
	Group activities

	C)
	Identification with group goals

	D)
	Instrumental benefits from membership

	E)
	All of these. 


	343.
	A manager who joins a Bible study because of his desire to mature as a Christian is joining the group for what motive?

	A)
	Group activities

	B)
	Group goals

	C)
	Need satisfaction

	D)
	Instrumental benefits

	E)
	Interpersonal attraction 


	344.
	Ashish joined a country club, not because he enjoys golf, but because it's a skill he sees as essential to moving up the corporate ladder.  Which of the following is the best explanation for Ashish's action?

	A)
	Interpersonal attraction

	B)
	Group activities

	C)
	Need satisfaction

	D)
	Group goals

	E)
	Instrumental benefits 


	345.
	When Claudia moved to a new city she joined a running club.  She actually preferred running by herself, but saw the club as a good way to release stress around people with whom she did not work.  Her primary reason for joining the group was

	A)
	instrumental benefits.

	B)
	group activities.

	C)
	group goals.

	D)
	need satisfaction.

	E)
	interpersonal attraction. 


	346.
	During which stage of group development do the members begin to try out various forms of behavior in an attempt to test the water and see what will be acceptable in the group?

	A)
	Norming

	B)
	Storming

	C)
	Forming

	D)
	Performing

	E)
	Controlling 


	347.
	After noticing a poster in the Student's Union building, Kunchel attends the very first organizational meeting for the Korean Students' Association. This group is in which stage of its development?

	A)
	Performing

	B)
	Forming

	C)
	Norming

	D)
	Transforming

	E)
	Storming 


	348.
	The stage of group development in which the group really begins to settle down to work and focus on goal attainment is the ________ stage.

	A)
	storming

	B)
	performing

	C)
	norming

	D)
	forming

	E)
	conforming 


	349.
	The stage of group development during which the members of the group begin to recognize and to accept their role in the group and to understand the roles of the other members of the group is known as the ________ stage of group development.

	A)
	conflict

	B)
	forming

	C)
	performing

	D)
	storming

	E)
	norming 


	350.
	Which stage of group development is characterized by the resolution of conflict and the development of roles?

	A)
	Storming

	B)
	Norming

	C)
	Performing

	D)
	Forming

	E)
	Reforming 


	351.
	The finance department was performing solidly when the director retired.  Her replacement moved up from within the department.  The ripple effect caused the department to temporarily shift to the ________ phase of group development.

	A)
	reforming

	B)
	performing

	C)
	storming

	D)
	norming

	E)
	forming 


	352.
	Which of the following are role episodes through which the roles of the group generally evolve?

	A)
	The sent role

	B)
	The perceived role

	C)
	The enacted role

	D)
	All of these.

	E)
	Only a. and b. 


	353.
	Which of the following is the role in which the group members actually communicate their expectations to a group member?

	A)
	The enacted role

	B)
	The intrasender role

	C)
	The expected role

	D)
	The sent role

	E)
	The received role 


	354.
	When Kayla is late with a report, the group members give her nasty looks and complain about the group's future performance.   This is an example of the ________ role.

	A)
	enacted

	B)
	perceived

	C)
	expected

	D)
	sent

	E)
	intrasender 


	355.
	How the individual behaves in the group is the _____ role.

	A)
	sent

	B)
	perceived

	C)
	conflict

	D)
	expected

	E)
	enacted 


	356.
	What is the name given to the cues and messages other members of the group use to let a member know what they expect?

	A)
	Expected role

	B)
	Sent role

	C)
	Perceived role

	D)
	Enacted role

	E)
	Delivered role 


	357.
	When Carol showed up for a meeting, people were still mingling about and wandering in.  Thirty minutes later the meeting started.  For the next meeting of the same group Carol showed up 20 minutes late.  Her ________ role changed.

	A)
	sent

	B)
	perceived

	C)
	enacted

	D)
	expected

	E)
	conformity 


	358.
	What is the name given to the breakdown in a role episode that occurs because the cues and messages that make up the sent role are contradictory or mutually exclusive?

	A)
	Role conflict

	B)
	Role ambiguity

	C)
	Quantitative role overload

	D)
	Qualitative role overload

	E)
	Confusion 


	359.
	When the sent role is unclear, the result is

	A)
	intrarole conflict.

	B)
	role dynamics.

	C)
	role ambiguity.

	D)
	storming.

	E)
	interrole conflict. 


	360.
	Which type of conflict occurs when there is conflict between two or more roles?

	A)
	Intrarole

	B)
	Intersender

	C)
	Intrasender

	D)
	Interrole

	E)
	Person-role 


	361.
	The school board instructed the principal to implement a character education program at her school before December 31 but neglected to fund any change in curriculum.  The principal experienced________ conflict.

	A)
	person-role

	B)
	interrole

	C)
	intrasender

	D)
	intersender

	E)
	None of these. 


	362.
	The standards of behavior that a group accepts for its members are called

	A)
	norms.

	B)
	roles.

	C)
	rules.

	D)
	customs.

	E)
	values. 


	363.
	Chad's boss expects him to work nearly full-time hours.  But Chad took the part-time job because he values his time to do other things.  This is an example of  ________ conflict.

	A)
	person-role

	B)
	interrole

	C)
	intrasender

	D)
	intersender

	E)
	None of these. 


	364.
	In your work group, the newest member of the group is expected to arrive a little early and make the first pot of coffee of the day.  This is an example of

	A)
	norm conformity.

	B)
	group cohesiveness.

	C)
	norm generalization.

	D)
	norm variation.

	E)
	role reversal. 


	365.
	Which of the following factors contributes to norm conformity in a group?

	A)
	Individual traits

	B)
	Situational factors

	C)
	Factors associated with the group

	D)
	The initial stimulus that prompts behavior

	E)
	All of these. 


	366.
	Which of the following factors tends to increase group cohesiveness?

	A)
	Large size

	B)
	Disagreement on goals

	C)
	Intragroup competition

	D)
	Domination by one member

	E)
	Favorable evaluation 


	367.
	The lowest performance results from

	A)
	low cohesiveness and high performance norms.

	B)
	high cohesiveness and high performance norms.

	C)
	high cohesiveness and low performance norms.

	D)
	low performance norms regardless of cohesiveness.

	E)
	None of these. 


	368.
	There is a cohesive group at work that functions with norms that do not support the organization's best interest.  You decide to reduce their cohesiveness.  You should

	A)
	insulate the group in a building by themselves.

	B)
	give the group a project to complete at which they are sure to fail.

	C)
	arrange a contest between the group and another group.

	D)
	try to find a common goal on which all can agree.

	E)
	provide some sort of outside threat to the group. 


	369.
	Which of the following combinations of group performance norms and cohesiveness is best from the manager's point of view?

	A)
	Low cohesiveness/low norms

	B)
	Low cohesiveness/high norms

	C)
	High cohesiveness/low norms

	D)
	High cohesiveness/high norms

	E)
	All of these. 


	370.
	In terms of group performance, when cohesiveness is __________ and performance norms are __________, the result should be __________ performance.

	A)
	high; high; high

	B)
	high; low; high

	C)
	low; high; low

	D)
	low; low; high

	E)
	None of these. 


	371.
	On the television show Friends Monica was organized, structured, and demanding.  The other friends usually followed her instruction.  Monica was the

	A)
	formal leader.

	B)
	informal leader.

	C)
	task specialist.

	D)
	maintenance specialist.

	E)
	hero. 


	372.
	Which of the following represents major areas of conflict within organizations?

	A)
	Conflict between individuals

	B)
	Conflict between groups

	C)
	Conflict between the organization and its environment

	D)
	All of these.

	E)
	Only conflict between individuals and conflict between groups. 


	373.
	__________ is based on disagreements between two or more individuals in an organization.

	A)
	Intergroup conflict

	B)
	Intragroup conflict

	C)
	Interpersonal conflict

	D)
	Conflict between the organization and the environment

	E)
	None of these. 


	374.
	The shipping department receives the products to be shipped from the production group.  These two groups are constantly in conflict with one another most likely due to

	A)
	personality conflict.

	B)
	different beliefs or perceptions.

	C)
	excessive competitiveness.

	D)
	interdependencies.

	E)
	limited resources. 


	375.
	Honda Motor Company's plant outside Columbus, Ohio manufactures Honda cars as small as the Civic to as large as the Element, all on the same assembly line.  This flexible manufacturing development allows automakers to rapidly respond to consumers' desires.  It should also decrease ________ between marketing and production.

	A)
	intergroup conflict between marketing and production

	B)
	intragroup conflict between marketing and production

	C)
	interpersonal conflict between marketing and production

	D)
	conflict between the organization and the environment

	E)
	None of these. 


	376.
	Increased interdependence __________ the potential for conflict.

	A)
	decreases

	B)
	increases

	C)
	has no effect on

	D)
	has an unknown effect on

	E)
	None of these. 


	377.
	Burger King settled a lawsuit with Coca-Cola that claimed data Coca-Cola provided about a frozen drink taste test was fixed and misled Burger King executives.  This is an example of

	A)
	intergroup conflict.

	B)
	intragroup conflict.

	C)
	interpersonal conflict.

	D)
	conflict between the organization and the environment.

	E)
	interorganizational conflict. 


	378.
	Which of the following is NOT a recommended method for controlling conflict?

	A)
	Changing established standards

	B)
	Making more resources available

	C)
	Maintaining superordinate goals

	D)
	Enhancing coordination

	E)
	Managing interpersonal dynamics 


	379.
	Which of the following conflict-management techniques usually results in a win-lose situation?

	A)
	Avoidance

	B)
	Compromise

	C)
	Confrontation

	D)
	Superordinate goals

	E)
	Smoothing 


	380.
	When Chandra's delivery drivers are experiencing a great deal of interpersonal conflict, Chandra reminds them that their cooperation with each other is necessary for the continuing profitability of the firm, and therefore, for their job security. Chandra is controlling conflict by

	A)
	expanding the resource base.

	B)
	using an appropriate coordination technique.

	C)
	focusing attention on higher-level goals.

	D)
	matching personalities and work habits of workers.

	E)
	None of these. 


	381.
	Perry knows that Ndemi is a talkative person, while Dominik prefers quiet, so he assigns the two men to separate work areas. Perry is controlling conflict by

	A)
	expanding the resource base.

	B)
	using an appropriate coordination technique.

	C)
	focusing attention on higher-level goals.

	D)
	matching personalities and work habits of workers.

	E)
	None of these. 


	382.
	____________ is a technique for resolving conflict where the manager acknowledges the existence of the conflict but downplays its importance.

	A)
	Confrontation

	B)
	Compromise

	C)
	Stimulating

	D)
	Avoidance

	E)
	Smoothing 


	383.
	Which of the following is NOT a suggested way for managers to control conflict?

	A)
	Expanding the resource base

	B)
	Enhancing coordination of interdependence

	C)
	Setting superordinate goals

	D)
	Matching personalities and work habits of employees

	E)
	Hiring outsiders to shape up things 


	384.
	During episodes of The Apprentice, Omarosa and Erica clashed repeatedly.  But they worked together well enough for their team of women to win a few challenges against the men.  Omarosa and Erica used ________ to build enough cohesiveness to get through the challenge at hand.

	A)
	avoidance

	B)
	compromise

	C)
	confrontation

	D)
	superordinate goals

	E)
	smoothing 


	385.
	Which of the following is a conflict resolution technique that requires a reasonable degree of maturity and uses a direct approach of addressing the conflict and working together to resolve it?

	A)
	Confrontation

	B)
	Compromise

	C)
	Smoothing

	D)
	Avoidance

	E)
	Stimulating 


	386.
	Which of the following technique for resolving conflict is MOST likely to eliminate or reduce the conflict significantly and for a long period of time?

	A)
	Confrontation

	B)
	Compromise

	C)
	Smoothing

	D)
	Avoidance

	E)
	Stimulating 


	387.
	As the product being produced becomes more complex, which of the following types of operations controls would logically become more important?

	A)
	Postaction

	B)
	Structural

	C)
	Screening

	D)
	Preliminary

	E)
	Financial 


	388.
	The University of Michigan develops a budget that shows its projected income from sources such as the state of Michigan, tuition and fees, alumni contributions, and research grants.  This is an example of a(n) ________ budget.

	A)
	operations

	B)
	capital expenditures

	C)
	nonmonetary

	D)
	output

	E)
	revenue 


	389.
	Marmont Mountain produces the highest quality of outerwear and sleeping bags.  When distribution problems arose, it talked to its retailers to learn how its performance could equal the standards the retailers wanted.  Getting feedback from retailers who sell its products is an example of ________ control.

	A)
	human resources

	B)
	financial

	C)
	screening

	D)
	postaction

	E)
	preliminary 


	390.
	__________ ratios indicate the effectiveness of specific functional areas rather than the total organization.

	A)
	Coverage

	B)
	Operating

	C)
	Debt

	D)
	Return

	E)
	None of these. 


	391.
	The organizational budgets that outline where an organization intends to get its cash and how it plans to use the cash are called __________ budgets.

	A)
	financial

	B)
	structural

	C)
	operating

	D)
	interim

	E)
	nonmonetary 


	392.
	Which of the following is a characteristic of screening controls?

	A)
	Take place during the transformation process

	B)
	Involve interviewing potential employees

	C)
	Are the same as preliminary controls

	D)
	Determine organizational flexibility

	E)
	Determine accuracy of organizational standards 


	393.
	International firms, which use a __________ strategic control system keep __________ decision-making power in their headquarters, while firms which use a __________ strategic control system give __________ decision-making power to each local facility.

	A)
	decentralized; more; centralized; more

	B)
	decentralized; less; centralized; less

	C)
	centralized; less; decentralized; less

	D)
	centralized; more; decentralized; more

	E)
	None of these. 


	394.
	Sales forecasting, economic forecasting, and environmental analysis are examples of the control of

	A)
	physical resources.

	B)
	human resources.

	C)
	information resources.

	D)
	financial resources.

	E)
	None of these. 


	395.
	If Disney wants to focus on the marketing strength of its theme parks it will use ________.

	A)
	liquidity ratios

	B)
	balance sheet ratios

	C)
	return on investment

	D)
	operating ratios

	E)
	debt ratios 


	396.
	When General Mills entered the yogurt market by buying Yoplait, it stated that it wanted to achieve sales of $50 million in five years.  It was

	A)
	attempting to control its external environment.

	B)
	attempting to be timely with its controls.

	C)
	integrating planning with control.

	D)
	relying on bureaucratic controls.

	E)
	None of these. 


	397.
	Which of the following statements does NOT describe a weakness associated with budgeting?

	A)
	Some manager apply budgets too rigidly.

	B)
	Developing budgets can be very time consuming.

	C)
	Budgets link planning and controlling.

	D)
	Budgets may limit innovation and change.

	E)
	Budgets may make it impossible to procure funds to take advantage of an unexpected opportunity. 


	398.
	The report issued about the space shuttle Columbia disaster showed a culture at NASA that did not listen when small safety issues were raised.  Each issue by itself might not have caused the disaster.  However, this example illustrates

	A)
	organizational complexity.

	B)
	how changing conditions are influenced by innovation.

	C)
	why control is necessary to reduce the accumulation of errors.

	D)
	how control helps organizations respond to changing standards.

	E)
	how organizations cope with multiple control standards. 


	399.
	Which of the following is NOT characteristic of the bureaucratic approach to organizational control?

	A)
	Limited employee participation

	B)
	Rewards focused on individual performance

	C)
	Tall structure

	D)
	Reliance on group norms

	E)
	Minimum levels of acceptable performance 


	400.
	Although many organizations have moved away from this practice, traditionally organization budgets were developed by

	A)
	the controller acting alone.

	B)
	the controller and top managers.

	C)
	all managers.

	D)
	all employees.

	E)
	None of these. 


	401.
	Anu is comparing the performance of her small landscaping business against the standards she established.  When she has finished her comparisons, any of the following actions may be appropriate EXCEPT

	A)
	correct deviations as required.

	B)
	maintain the status quo.

	C)
	increase the control standards.

	D)
	decrease the control standards.

	E)
	eliminate the control standards. 


	402.
	Equipment control is an important aspect of which area of control?

	A)
	Physical resources

	B)
	Human resources

	C)
	Information resources

	D)
	Financial resources

	E)
	None of these. 


	403.
	Your management information system provides managers with weekly data concerning deviations from standards in each department. Which step in the control process does this represent?

	A)
	Corrective action

	B)
	Measuring performance

	C)
	Comparison of performance to standards

	D)
	Setting performance standards

	E)
	Goal setting 


	404.
	Which of the following is the most common means of financial control within organizations?

	A)
	Financial statements

	B)
	Ratio analysis

	C)
	Budgets

	D)
	Financial audits

	E)
	Benchmarking 


	405.
	Which of the following is NOT a major form of operations control discussed in the text?

	A)
	Preliminary

	B)
	Screening

	C)
	Postaction

	D)
	Functional

	E)
	All of these are major forms of operations control. 


	406.
	A company that carefully evaluates job applicants is using __________ control.

	A)
	screening

	B)
	cybernetic

	C)
	postaction

	D)
	preliminary

	E)
	yes-no 


	407.
	Standards used in organizational control are most like

	A)
	policies.

	B)
	strategies.

	C)
	goals.

	D)
	rules.

	E)
	standing plans. 


	408.
	The purpose of bureaucratic control is to

	A)
	enhance employee participation in the control function.

	B)
	produce performance above minimum acceptable standards.

	C)
	get employee compliance.

	D)
	increase group performance.

	E)
	increase employee self-control. 


	409.
	One way managers can improve the effectiveness of the control system is to

	A)
	change the performance standards.

	B)
	control as many things in the organization as possible.

	C)
	computerize the system.

	D)
	integrate control with planning.

	E)
	correct all deviations from standards. 


	410.
	Income statements, balance sheets, and audits are examples of the control of

	A)
	physical resources.

	B)
	information resources.

	C)
	human resources.

	D)
	financial resources.

	E)
	None of these. 


	411.
	Siemens, the German-based industrial firm, uses the following slogan: “Quality is when your customers come back, and your products don't.”  This slogan indicates that the company places an emphasis on ________.

	A)
	operations control

	B)
	financial control

	C)
	structural control

	D)
	strategic control

	E)
	hierarchy 


	412.
	When classifying controls on the basis of the resources involved, we find that one class of resources is related to the control of all other resource classes as well.  Which resource class overlaps all other classes?

	A)
	Physical resources

	B)
	Human resources

	C)
	Financial resources

	D)
	Information resources

	E)
	None of these. 


	413.
	What is wrong with a compensation system that rewards members of the sales force for the number of sales calls made without also looking at the average dollar sales per call?

	A)
	Overcontrol

	B)
	Lack of standards

	C)
	Undercontrol

	D)
	Inappropriate focus

	E)
	Lack of accountability 


	414.
	Stephanie has a deadline for submission of her term paper.  She estimates the total number of pages required and how long it will take her to write each page.  She knows how many days she has until the paper is due.  She is making a ________ budget.

	A)
	capital expenditure

	B)
	master

	C)
	space

	D)
	labor

	E)
	personnel 


	415.
	The flight attendant who engages you as you depart the airplane is actually engaging in ________ control.

	A)
	preliminary

	B)
	postaction

	C)
	screening

	D)
	financial

	E)
	structural 


	416.
	Nadine spends the entire year's office supply funds in only eight months, while Clarence still has funds left over at the end of the year. In many organizations, this means that Nadine would get more money next year, while Clarence would get less. This organizational practice is an example of

	A)
	overcontrol.

	B)
	reducing uncertainty.

	C)
	resistance to control.

	D)
	rewarding inefficiency.

	E)
	management by objectives. 


	417.
	Which of the following would be viewed as a measure of the firm's ability to meet its long-term financial obligations?

	A)
	Debt ratio

	B)
	Balance sheet ratio

	C)
	Return on investment

	D)
	Operating ratio

	E)
	Liquidity ratio 


	418.
	Which type of financial statement summarizes the organization's revenues and expenses over the previous year?

	A)
	Balance sheet

	B)
	Liquidity statement

	C)
	Cash flow statement

	D)
	Income statement

	E)
	Debt statement 


	419.
	The __________ explicit and the __________ precise the link between planning and control, the __________ effective the control system.

	A)
	less; less; less

	B)
	more; more; less

	C)
	more; less; less

	D)
	less; more; less

	E)
	None of these. 


	420.
	According to your text, strategic control is especially critical for which type of organizations?

	A)
	Conglomerate

	B)
	Small

	C)
	Entrepreneurial

	D)
	International

	E)
	None of these. 


	421.
	You are a banker reviewing a loan application from a local business.  Which of the following ratios would you look at to get a quick measure of the business's ability to meet its long-term financial obligations?

	A)
	Liquidity ratio

	B)
	Balance sheet ratio

	C)
	Return on investment

	D)
	Operating ratio

	E)
	Debt ratio 


	422.
	Which of the following are important elements of decentralized  control?

	A)
	Group norms

	B)
	Employee responsibility

	C)
	Tall organization structure

	D)
	All of these.

	E)
	Only group norms and employee responsibility. 


	423.
	All of the following are characteristics of an effective control system EXCEPT

	A)
	developed and implemented by top management.

	B)
	flexibility.

	C)
	integrated with planning.

	D)
	accurate.

	E)
	timely. 


	424.
	Postaction controls are applied to what part of a system?

	A)
	Resources

	B)
	Transformation processes

	C)
	Subsystems

	D)
	Controller

	E)
	Outputs 


	425.
	Organizations make the decision to have a centralized or decentralized international control system when they are addressing issues of __________ control.

	A)
	operational

	B)
	strategic

	C)
	financial

	D)
	bureaucratic

	E)
	None of these. 


	426.
	Which of the following is NOT characteristic of the bureaucratic approach to organizational control?

	A)
	Rewards focused on individual performance

	B)
	Tall organizational structure

	C)
	Limited employee participation

	D)
	Reliance on rules and a rigid hierarchy

	E)
	Reliance on group norms 


	427.
	Which of the following financial documents shows a listing of all the organization's assets and liabilities at a given point in time?

	A)
	Balance sheet

	B)
	Balance sheet budget

	C)
	Income statement

	D)
	Revenue budget

	E)
	Capital expenditures budget 


	428.
	Control systems in the accounting industry have changed since the details of Enron's and many other firms activities have come to the public's attention.  Accounting firms had to separate consulting from auditing due to possible conflicts of interest.  This example illustrates

	A)
	organizational complexity.

	B)
	how changing conditions are influenced by innovation.

	C)
	why control is necessary to reduce the accumulation of errors.

	D)
	how control helps organizations respond to changing standards.

	E)
	how organizations cope with multiple control standards. 


	429.
	Which of the following statements about financial audits is true?

	A)
	They are independent appraisals.

	B)
	They may be internal or external to the organization.

	C)
	They may be used to monitor accounting, financial, and operation systems within an organization.

	D)
	They may be conducted on a continual or an intermittent basis.

	E)
	All of these. 


	430.
	MTV does not require is various divisions (MTV Europe, MTV Australia, MTV India, MTV Latin America, and so on) to report in frequently.  It believes in letting each manager have the authority to respond quickly to environmental changes.  These changes do not have to be approved by MTV before they are implemented.  MTV has a(n) ________ international strategic control.

	A)
	bureaucratic

	B)
	inappropriate

	C)
	decentralized

	D)
	formalized

	E)
	inflexible 


	431.
	The ratios that assess the ease with which the assets of the organization can be converted into cash are

	A)
	liquidity ratios.

	B)
	profitability ratios.

	C)
	debt ratios.

	D)
	operating ratios.

	E)
	None of these. 


	432.
	Preliminary control can be used with __________ resources.

	A)
	human

	B)
	financial

	C)
	physical

	D)
	information

	E)
	All of these. 


	433.
	__________ control is characterized by __________ rules and a(n) __________ structural arrangement.

	A)
	Decentralized; formal; organic

	B)
	Decentralized; informal; organic

	C)
	Bureaucratic; informal; mechanistic

	D)
	Bureaucratic; formal; organic

	E)
	None of these. 


	434.
	What type of control is exercised when assembly line workers check their work as they assemble the components?

	A)
	Screening control

	B)
	Preliminary control

	C)
	Postaction control

	D)
	Human resources control

	E)
	Financial resources control 


	435.
	Where would you expect to find the following information: “ACME Insurance Company has $450 million dollars worth of assets”?

	A)
	Balance sheet

	B)
	Current liability

	C)
	Fixed asset

	D)
	Net income

	E)
	Stockholder's equity 


	436.
	A company that has surplus cash to invest fully investigates available investment opportunities to determine which will give the best return.  What type of operations control does this action represent?

	A)
	Preliminary

	B)
	Postaction

	C)
	Feedback

	D)
	Screening

	E)
	Concurrent 


	437.
	Many firms today are reducing the number of suppliers they use and instead are focusing on building strong relationships with just a few suppliers. What are the advantages of doing this?

	A)
	Increased use of automation

	B)
	More control over raw material delivery

	C)
	Fewer materials used in the process

	D)
	All of these.

	E)
	Only “increased use of automation” and “more control over raw material delivery.” 


	438.
	The earliest form of automation—machine-controlled devices—were first developed

	A)
	in the 1700s.

	B)
	in the 1800s.

	C)
	in the 1900s.

	D)
	after the year 2000.

	E)
	None of these. 


	439.
	When energy productivity is measured by the number of outputs produced divided by the dollars spent on energy used to generate this amount of output, this is a measure of

	A)
	total factor productivity.

	B)
	TQM.

	C)
	partial productivity ratio.

	D)
	ISO 9000.

	E)
	None of these. 


	440.
	Product-service mix decisions address which of the following issues?

	A)
	Which products to offer

	B)
	How many different products to offer

	C)
	What quantity to produce of a product

	D)
	All of these.

	E)
	Only “which products to offer” and “how many different products to offer.” 


	441.
	Unmanned aircraft are increasingly sent into outer space instead of astronauts.  This is an example of

	A)
	CAD.

	B)
	CAM.

	C)
	FMS.

	D)
	robotics.

	E)
	JIT. 


	442.
	A local restaurant owner often dines at competitors' restaurants and samples items from their menus in order to imitate or improve on them. This is an example of

	A)
	benchmarking.

	B)
	conformance sampling.

	C)
	acceptance sampling.

	D)
	in-process sampling.

	E)
	None of these. 


	443.
	The starting point for instituting an organizational quality program is

	A)
	employee involvement.

	B)
	changes in operations methods.

	C)
	improving the quality of materials.

	D)
	employing new forms of technology.

	E)
	strategic commitment from top managers. 


	444.
	The set of processes and systems used by organizations to convert resources into products or services is called

	A)
	quality.

	B)
	technology.

	C)
	manufacturing.

	D)
	automation.

	E)
	None of these. 


	445.
	A __________ organization is one that transforms resources into an intangible output and creates time and place utility for its customers.

	A)
	manufacturing

	B)
	production

	C)
	service

	D)
	profitable

	E)
	None of these. 


	446.
	At Wal-Mart, 70% of merchandise is rung up at the cash register before the company even pays for it.  This is an example of

	A)
	just-in-time inventory.

	B)
	benchmarking.

	C)
	management by objective.

	D)
	quality circles.

	E)
	computer-assisted manufacturing. 


	447.
	When an organization produces 100 units of output for 10 hours of direct labor, what is its labor productivity index?

	A)
	0.1

	B)
	10

	C)
	1000

	D)
	100

	E)
	None of these. 


	448.
	The text notes that what we now call operations management was once called production management and implies that there are several reasons for the change in definition.  Which of the following is NOT one of those reasons?

	A)
	The decline in manufacturing in the United States in recent years

	B)
	Changes in manufacturing processes such as the increased use of robots and other computer-based technology

	C)
	The increase in the size and importance of the service sector in the U.S. economy

	D)
	Drastic increases in foreign competition and the subsequent effects it has had on U.S. firms

	E)
	The fact that many of the tools and techniques used in manufacturing can also be used in the service sector 


	449.
	At a regional manufacturing facility the quality control people sample 15 percent of the finished products to check for adherence to more than 12 quality standards.  This is an example of

	A)
	acceptance sampling.

	B)
	outsourcing.

	C)
	in-process sampling.

	D)
	ISO 9000.

	E)
	None of these. 


	450.
	Which of the following factors is NOT included in the formula for computing total factor productivity?

	A)
	Labor

	B)
	Capital

	C)
	Materials

	D)
	Energy

	E)
	Inflation 


	451.
	Which of the following is NOT a current use for robotics?

	A)
	Loan approval

	B)
	Brain surgery

	C)
	Agriculture

	D)
	Police work

	E)
	Jewelry engraving 


	452.
	The International Organization for Standardization requires firms to document the impact of operations on the environment.  The standards are called ISO

	A)
	9000.

	B)
	2000.

	C)
	9000: 2000.

	D)
	14000.

	E)
	None of these. 


	453.
	Chelsea Milling Company produces Jiffy baking mix, brownie mix, corn muffin mix, blueberry muffin mix, and apple muffin mix.  These mixes represent the company's

	A)
	product-service mix.

	B)
	capacity mix.

	C)
	facilities layout.

	D)
	facilities location.

	E)
	human resource mix. 


	454.
	Each of Whirlpool's plants used to handle its own logistics.  This resulted in a tangle of routes and inefficiencies that set variable cost soaring.  In the course of a day, three Whirlpool trucks might make stops to pick up goods from a single supplier when one truck could have done the job.  Whirlpool hired Ryder Dedicated Logistics to untangle and coordinate the transport routes so that it could get back to doing what it does best, building appliances.  Whirlpool used

	A)
	SQC.

	B)
	TQM.

	C)
	outsourcing.

	D)
	benchmarking.

	E)
	ISO 9000. 


	455.
	Which of the following is classified as a partial productivity ratio?

	A)
	Labor productivity ratio

	B)
	Energy productivity ratio

	C)
	Total factor productivity ratio

	D)
	All of these.

	E)
	Only labor productivity ratio and energy productivity ratio. 


	456.
	According to the text, the major problem associated with total factor productivity is that

	A)
	the data are too hard to obtain.

	B)
	all ingredients must be expressed in the same terms.

	C)
	it clearly tells the manager what to do to correct a problem.

	D)
	it is not compatible with standard accounting procedures.

	E)
	it is nothing more than a cost-benefit analysis. 


	457.
	A department store provides utility for customers because it makes it easy for them to purchase what they want in one place. This is an example of __________ utility.

	A)
	time

	B)
	statistical

	C)
	form

	D)
	quality

	E)
	All of these. 


	458.
	An organization that transforms resources into an intangible output in order to create time or place utility for its customers is known as a(n) __________ company.

	A)
	outsourcing

	B)
	service

	C)
	manufacturing

	D)
	ISO 9000

	E)
	TQM 


	459.
	Congress talked about increasing the size of the Armed Forces after operations in Iraq, Afghanistan, Bosnia, Liberia, and the Korean peninsula seemed to have units stretched too thin.  Congress made what kind of an operations decision?

	A)
	Product-service mix

	B)
	Capacity

	C)
	Technology

	D)
	Facilities location

	E)
	Human resource mix 


	460.
	Which of the following is NOT one of the dimensions of quality discussed in the text?

	A)
	Performance

	B)
	Preference

	C)
	Aesthetics

	D)
	Reliability

	E)
	Features 


	461.
	Time Warner sold its DVD/CD production and distribution division.  This is an example of what kind of an operations decision?

	A)
	Product-service mix

	B)
	Capacity

	C)
	Facilities layout

	D)
	Facilities location

	E)
	Human resource mix 


	462.
	Which of the following countries has the highest level of total productivity?

	A)
	United States

	B)
	Japan

	C)
	France

	D)
	Germany

	E)
	Korea 


	463.
	All of the following are specific factors that can be used to assess or evaluate quality EXCEPT

	A)
	reliability.

	B)
	serviceability.

	C)
	features.

	D)
	durability.

	E)
	All of these can be used to assess quality. 


	464.
	Motorola offers an eight-hour seminar based on its famed six sigma quality program, which aims for only one defect per 1,000,000-unit production run, to businesses that are interested it teaching their employees how to implement total quality management.  This example focuses on which component of the quality management strategy?

	A)
	Employee involvement

	B)
	Strategic commitment

	C)
	Technology

	D)
	Materials

	E)
	Methods 


	465.
	Dell printer ink cartridges are only available from Dell.  The new cartridges arrive with return bags and postage to recycle the old cartridge.  This is an example of

	A)
	features.

	B)
	aesthetics.

	C)
	reliability.

	D)
	durability.

	E)
	serviceability. 


	466.
	A crystal manufacturer has found a way to improve the management of its inventory of lead, which is part of its __________ inventory.

	A)
	finished-goods

	B)
	work-in-process

	C)
	raw materials

	D)
	in-transit

	E)
	just-in-time 


	467.
	Which of the following is an organizational technology?

	A)
	Automation

	B)
	Robotics

	C)
	Mass-production assembly line

	D)
	CAD

	E)
	All of these. 


	468.
	Which of the eight dimensions of quality refers to a measure of product life?

	A)
	Reliability

	B)
	Durability

	C)
	Serviceability

	D)
	Features

	E)
	Perceived quality 


	469.
	Which of the following decisions is likely to be the decision starting point occurring before the other decisions?

	A)
	The capacity decision

	B)
	The product-mix decision

	C)
	The facilities layout decision

	D)
	The facilities location decision

	E)
	None of these. 


	470.
	Operations management can BEST be used to improve speed by

	A)
	maximizing the number of approvals needed so that mistakes are caught beforehand, then moving ahead at full speed.

	B)
	using individual work assignments because of the clear accountability that results.

	C)
	starting from scratch, which usually enhances speed more than modifying current systems

	D)
	rigidly adhering to schedules

	E)
	eliminating elements of the organization culture that have been ineffective. 


	471.
	Which of the following is NOT one of the constraints with which a purchasing agent must deal?

	A)
	Inventory levels and delivery dates

	B)
	Supplier reliability

	C)
	Integrating purchasing with production

	D)
	Getting the best possible discounts and terms

	E)
	The quality of what is being purchased 


	472.
	________ is the process of managing operations control, resource acquisition and purchasing, and inventory to improve overall efficiency and effectiveness.

	A)
	Supply-chain management

	B)
	Resource management

	C)
	Inventory management

	D)
	Quality control

	E)
	Productivity control 


	473.
	Which sector of the US economy was responsible for most of the growth in new jobs during the 1990s?

	A)
	Manufacturing

	B)
	Service

	C)
	Government

	D)
	Exports

	E)
	Imports 


	474.
	For any total quality management effort to have a chance for success, it must begin with

	A)
	strategic commitment by top management.

	B)
	employee involvement.

	C)
	higher-quality materials.

	D)
	technology.

	E)
	None of these. 


	475.
	All of the following are basic components of a total quality management (TQM) strategy EXCEPT

	A)
	employee involvement.

	B)
	technology.

	C)
	materials.

	D)
	strategic commitment.

	E)
	All of these are basic components of a TQM strategy. 


	476.
	________ consists of a set of mathematical and/or statistical methods and procedures for measuring and adjusting quality levels.

	A)
	Benchmarking

	B)
	Total quality management

	C)
	Conformance

	D)
	Statistical quality control

	E)
	None of these. 


	477.
	Which of the following organizations creates form utility?

	A)
	A law firm

	B)
	H & R Block

	C)
	UPS

	D)
	Coca-Cola

	E)
	Costco 


	478.
	Operations management is the set of managerial activities used by an organization to transform __________ into __________ and __________.

	A)
	outputs; resources; inputs

	B)
	services; resources; outputs

	C)
	inputs; resources; activities

	D)
	resources; products; services

	E)
	None of these. 


	479.
	The probability that a DVD player will eject the disk when you push the eject button is an example of which dimension of quality?

	A)
	Aesthetics

	B)
	Features

	C)
	Reliability

	D)
	Serviceability

	E)
	Perceived quality 


	480.
	A pet food plant has a pay-for-knowledge compensation system in which an employee's hourly wage depends on how many different jobs she or he can do.  Which of the following statement describing research results about such programs is FALSE?

	A)
	They increase workforce flexibility.

	B)
	They reduce the number of employees required.

	C)
	Unions support such programs because they give the worker more voice in operations.

	D)
	They are an effective means of increasing productivity.

	E)
	The key to the success of such programs is rewards. 


	481.
	Which of the following is NOT true regarding the relationship between productivity and quality?

	A)
	There is no relationship between productivity and quality.

	B)
	Increased productivity means higher quality.

	C)
	Higher quality results in higher productivity.

	D)
	Productivity and quality are positively related.

	E)
	All of these are not true. 


	482.
	The type of statistical quality control that involves testing products as they are being made is known as

	A)
	total factor sampling.

	B)
	acceptance sampling.

	C)
	in-process sampling.

	D)
	conformance sampling.

	E)
	None of these. 


	483.
	When considering making a capacity decision, which of the following will be important information to have?

	A)
	Market demand for the product

	B)
	Current capacity

	C)
	Funds available for expansion

	D)
	All of these.

	E)
	Only “market demand for the product” and “current capacity.” 


	484.
	At a regional manufacturing facility, the quality control people sample ten percent of the finished products to check for adherence to quality standards. This is an example of

	A)
	benchmarking.

	B)
	acceptance sampling.

	C)
	in-process sampling.

	D)
	conformance sampling.

	E)
	None of these. 


	485.
	An engineering consulting firm calculates the following ratio: an engineer's hours of work/ an engineer's number of billable hours is a measure of __________ productivity.

	A)
	labor

	B)
	partial

	C)
	total factor

	D)
	individual

	E)
	None of these. 


	486.
	Anthony is comparing the quality of an $800 personal computer to one that cost $1,634. This is an example of the ________ of quality.

	A)
	relative nature

	B)
	absolute nature

	C)
	conformance dimension

	D)
	price dimension

	E)
	aesthetic nature 
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